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Dear customer,

Thank you for purchasing our product. Please read the following instructions carefully
before first use and keep this user manual for future reference. Pay particular attention
to the safety instructions. If you have any questions or comments about the device,
please contact the customer line.
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Introduction

After reading this manual, store it in a convenient location" for future reference.

Note: Some of the models described in this manual may not be available in some
countries.

Operational Notes

To ensure trouble-free operation, please observe the following points:
1. Do not carry the calculator in the back pocket of slacks or trousers.
2. Do not subject the calculator to extreme temperatures.

3. Do not drop it or apply excessive force.

4. Clean only with a soft, dry cloth."

5. Do not use or store the calculator where fluids can splash onto it.
Press the RESET switch only in the following cases:

e When using for the first time

e After replacing the batteries

e To clear all memory contents

e When an abnormal condition occurs, and all keys are inoperative.

If service should be required on this calculator, use only a SHARP servicing dealer,
SHARP approved service facility, or SHARP repair service where available.



The protective cover

Your calculator comes with a cover to protect the key- board and display when the
calculator is not in use.

1.Push the rear end of the calculator then slide it to the opposite end.

2.Rotate the calculator to fit into the cover.

e Always close the cover when you are not using the calculator. (To close, follow the
opening procedure in reverse.)

In case the cover is separated from the main unit, reattach it by following steps shown
below.




Display

. = 20dF  HYPALPHA FIXSCIENG DEGRAD ERFN) M == | 4— SymbO|
Equation |l s s @ dac o 5 &0 M _
HEE%E%%‘
Mantisa Exponent

(During actual use not, all symbols are displayed at the same time.)

If the value of mantissa does not fit within the range + 0,000000001 - + 9999999999, the
display changes to scientific notation. The display mode can be changed according to
the purpose of the calculation.

o e Appears when the entire equation cannot be displayed. Press

(O ®) to see the remaining (hidden) section

2ndF Appears when 2ndF is pressed, indication that the functions shown
in yellow are enabled

HYP Indicates that HYP has been pressed and the hyperbolic functions
are enabled. If 2ndF hyp are pressed, the symbols “2ndF HYP”
appear, indication the inverse hyperbolic functions are enabled.

Alpha Indicates that 2ndF APLHA or STO (RCL) has been pressed, and
entry (recall) of memory contents and recall of statistics can be
performed.

FIX/SCI/ENG Indicates the notation used to display a value and changes each
time 2ndF FSE are pressed.

DEG/RAD/GRAD Indicates angular units and changes each time DRG is pressed

STAT Appears when statistics mode is selected.

M Indicates that a numerical value is stored in the independent

memory.



Before using the calculator

Key notation used in this manual

. To specify e*:

In i :
To specify In: (In )

To specify x: (2ndF)(aLrEa)[ X )

Functions that are printed in yellow above the key require 2ndF to be pressed first
before the key. Numbers are not shown as keys, bat as ordinary numbers.

Power On and Off

Press on/c on the calculator on, and 2ndF OFF to turn it off

Clearing Methods

There are three clearing methods as follows:

Clearing operation Entry (Display) M™! A-D, X, Y*2 STAT, ANS
ON/C 0O X X
2ndF O X O
Reset O O O
O : Clear
X: Retain

. Independent memory M.

*2 Temporary memories A-D,X and Statistical data, and last answer memory.



Editing the Equation

o Press “O or (D to move the cursor . You can also return to the equation after

getting an answer by pressing O (@) .See below for Multi-line playback

function.

e |If you need to delete a number, move the cursor to the number you wish to

delete then press . The number under the cursor will be deleted.

¢ If you need to insert a number, move the cursor to the place immediately after
where you wish to insert the number then enter the number.

Multi-line Playback function

This calculator is equipped with a function to recall previous equations. Equations also
include calculation ending instructions such as "=" and a maximum of 142characters can
be stored in memory. When the memory is full ,stored equations are deleted in the
order of the oldest first. Pressing (4 will display the previous equation and the
answer. Further pressing Ca) will display preceding equations (after returning to the

previous equation, press () to view equations in order). In addition, (&) can be

used to jump to the oldest equation.

@ 3(5+2) ONQ 3( ) 5(*)2(0)(C=) 2
@ 3x5+2 3(x)5(+)2( =) 17.
@ 345 + 3x2 3(x)5(+)3(x)2(=) 2.
- Equation @ (a) 21.
- Equation @ v 17.
- Equation ® Lv) 21.
- Equation @ (a) 17.

The multi-line memory is cleared by the following operations:

(2ndF) (A ), (2ndF) (OFF) (including the Automatic Power Off feature),mode change

'RESET, (2ndF] (ancon) (2ndF) (ANS) (onstant calculation, angle conversion / change,
coordinate conversion, numerical value storage to the temporary memories and

independent memory, and input/deletion of statistical data.



Priority Levels in Calculation

This calculator performs operations,according to the following priority:

@ Functions preceded by their argument (x, x* n!, etc.)

@

by their argument (sin, cos, ;etc.) @ implied multiplication of a function (2sin30,etc.)
® nCr,nPr, @ x,+ +, - @=, M+, M-, =M, p DEG,
pRAD,p GRAD,DATA,CD,— 18,

instruction

@ Yy o @ Implied multiplication of a memory value (2V, etc.) Functions followed

H
Xy and other calculation ending

If parentheses are used,parenthesized calculations have precedence over any other
calculations.

Initial Setup

Mode selection

Normal mode: o)

Used to perform arithmetic operations and function calculations.

Single-variable statistics mode: (2n9F) (MODE) (L1 )

Used to perform 1-variable statistical calculations.

Two-variable statistic mode: (2ndF) (MODE) [_2 )

Used to perform 2-variable statistical calculations.

When executing mode selection, temporary memories, statistical data and last answer
memory will be cleared even when reselecting the same mode.



Selecting the Display Notation and Decimal Places

The calculator has four display notation systems for displaying calculation results. When
FIX, SCI, or ENG symbol is displayed, the number of decimal places can be set to any
value between 0 and 9. Displayed values will be reduced to the corresponding number
of digits.

100 000 + 3 =

- - [ONTC) 100000 (= )3 (=) 33333.33333
[Floating point]

[Fixed decimal point] 33333.33333
(TAB set o 2] B 2 13333.93
. = : 2nd FSE 3.33x10
[Scientific notation] ':EﬂﬂFj (FSE) : E;WJ
[Engineering notation] (FSE) 33x
(2ndF) (ESE) 3333333333

[Floating point]

If the value for floating point system does not fit in the following range, the calculator
will display the result using scientific notation system:
0.000000001 < | x| <9999999999

Determination of the Angular Unit

In this calculator, the following three angular units can be specified.

» DEG(")
/ Press Dﬁh
L
DRAD(g) RAD (Radians)

"
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Scientific Calculations

Press (204F) (Mooe) (L2 ) 5 select the normal mode.
In each example, press @9 to clear the dislay.

If the FIX, SCI or ENG indicator is displayed, clear the indicator by pressing =3

Arithmetic Operations / Constant Calculations

45+285+3= (oN/C) 45 285(=)3(=D 140.

18+6 _ (iO)18 6 (10 =)

15-8 (0015 (=0 8 (="  3.428571429

42x(-5)+120= 420C0FLs5F)120=) -90.
G{S @] Er

® B @ @

- & & »

(5X10")+(4X10% )= s5(Exe)3(=Ja(Exe]

FED3il= 1250000.
34+57= 34 () 57 =" 91.
45+57= 45 =) 102.
68x25= 68 (X)) 25(=)" 1700.
68x40= 40=D 2720.

The closing parenthesis ) just before = or M+ may be omitted.

The addend becomes a constant. Subtraction and division are performed in the same
manner.

The multiplicand becomes a constant.

When performing calculations using constants, constants will be displayed as K.
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Functions

Before starting calculations, specify the angular unit.

sin60["]= @NE) Gin) 80 (=) 0.866025403
cgsj:_[rad]: [(ORG] (cos J L (T Jm J = 14

= 0.707106781
tan"q=[9] (ORE) (ZndF) (fan] 1 =) 50.

The results of inverse trigonometric functions are displayed within the following range:

B =sin"X, a=tan'X 8= cos' e
DEG -90=8=<90 O<zes 180
RAD -Fzes% Osesm
GRAD -100=8=< 100 O=e=< 200

12



cosh 1.5+ (enig) (O (Fve) (eos) 1.5 (=) (e
sinh 1.5)°= Go1s(EDE) 20.08553692
—- (2ndF) (archyp) (tan) (T 5
! (=) 0.895879734
In20 = (In) 20 (=) 2.995732274
log 50 = (Tog) 50 (=) 1.698970004
o'= GndF) (&) 3 (=) 20.08553692
10'= @ndF) (15) 1.7 (=) 50.11872336
S 6 (2ndF) [(x ) [+ )7 (2ndF]
B T "
(x) (=) 0.309523809
g3y 5= By J(=-)2[=Jal¥y")
) s (=) -2024.984375
(12 3= 124
! COE) (=D 6.447419591
JAG = /87 = ()49 (=) 4 @ndd) (57
8= 4,
41 = 4 @ndf) CnD) (=1 24.
wPsi= 10 @af) (P 3 (=) 720.
WCas= E2ndF (aC ) 2( = ) 10.
500x25% = 500 (%) 25 @naf) (%) 125.
120+400=7% 120 (=) 400 EndF) () 30.
500+(500x25%)= 500 (=) 25 Enaf) (%) 625.
400-(400x30%)= 400 (=) 30 @ndF) (%) 280.
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Random Numbers

A pseudo-random number with three significant digits can be generated by pressing
(=J. To generate the next random number, press = . You can perform this
function in the normal and statistics modes.

Random numbers use memory Y. Each random number is generated on the basis of the
value stored in memory Y (pseudo-random number series).

Angular Unit Conversions

90° - [rad] (@NIC) 90 (2ndF) (DEGH) 1.570796327
- [g] 100.
- [°] 90.
sin” 0.8=["] (2ndfF) (8in") 0.8 (=) 53.13010235
- [rad] 0.927295218
- [g] 59.03344706
= [°] DEGK 53.13010235

Memory Calculations

This calculator has 6 temporary memories (A-D, X and Y),one independent memory (M)
and one last answer memory. Independent memory and temporary memories are only
available in the normal mode.

[Temporary memories (A-D, X and Y)]

A stored value can be recalled as a value or variable for the use in equations. In case you
store an infinite decimal in the memory, recall it as a variable to obtain accurate
answers.

Example:

10+ )3ISTO) LY ) (0.3333........ Is stored to Y)
J( X JRCUJLY I =) 0.999999999
3 () @ndB) (aeewd) CY ) (C=1) 1.
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Independent memory (M)]

In addition to all the features of temporary memories, a value can be added to or
subtracted from an existing memory value.

Last answer memory (ANS)]

The calculation result obtained by pressing = or any other calculation ending instruction
is automatically stored in the last answer memory.

Note:

Calculation results from the functions indicated below are automatically stored in
memories X or Y. For this reason, when using these functions, be careful with the use of
memories X and Y.

Random numbers................. Y memory
D00, D XYeerveeeeeeeeeee e, X' memory, Y memory

Temporary memories and last answer memory are cleared even when the same mode
is reselected.

(ON/C) B[ % )2 (STO)[ M ) 16.
24 +(Bx2)= 24+ J(ReLJC M I =) 1.5
(Bx2)x5= (RCL) [ M ) = ]85 =] &80.

[ON/C) [BTO] [ M ] 0.
$150x3:M1 150 %) 3 450.
+)$250:M2=M1+250 250 250.
-M2x5%:Discount (REL][ M [ = )s5(2ndF) [ % ] 35.
Total=M (ZndF] [ M- J[RCL][ M ) 665.
$1=%140 140 (5TO) (v _) 140.
%33, 775=%7 33775 [+ J(REL) [ ¥ ) =1 241.25
$2,750=%7 2750 = J[(RCL) (¥ ) = 1 385000
r=3em 3 3.
mri="7 [ m ] [(2ndF) (aLPHa)”
(r—Y) (¥ J(x*) (=1 28.27433388

a0 Je (=81
24 _ =) 2.4
vg 24 3 (%) (zodF) (ARS) (= ) so (5
3x(A)+60+(A)= (znaf) (ANS) (=) 32.2

* Entry of the multiplication procedure is omitted between " " and a variable.
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Chain Calculations

This calculator allows the previous calculation result to be used in the following
calculation.

B+4=ANS [ONE)e (+ J4( = ] 10.
ANS+5 s C=0) 15.
44+3T=ANS 44 ar(C=) 81.
JANS =) 9.

The previous calculation result will not be recalled after entering multiple instructions.

Fraction Calculations

e Adecimal number, variable, or exponent cannot be entered as a fraction.

e Inall cases, a total of up to 10 digits including integer, numerator, denominator
and the symbol () can be entered.

e If the number of digits to be displayed is greater than 10, the number is
converted to and displayed as a decimal number.

3l+£_[aE] (ONJ/C) 3 (abic ) 1(abic) 2 + )

2 3 4 (able)3 (=) 4r5r6*
—[a.xxx] 4.833333333
—[d/c] 296
1D_§= (2ndF ] (107 ] 2 [abic] 3

=3 4.641588834
1.25+2=[a.xxx] 1.25 (& )2 (b)) s (=) 1.65
~[a7] 113120

4r5r6t=4g

16



Time, Decimal and Sexagesimal Calculations

Conversion between decimal and sexagesimal numbers can be performed. In addition,
the four basic arithmetic operations and memory calculations can be carried out using

the sexagesimal system.

12°39'18"05

(GNIC) 12 [O'M'S) 38 (O'M'S) 18 ['MS) 5

—[10] 12.65501389
123.678 123 678 123°40'40.80
—[60]
3h30m4d5s+ 3 [O°'M'5) 30 ([OM'S) 45 + )6 ([DM'S)
6h45m36s=[60] asp'mg s (= ) 10°16'21.00
3h45m - 3pMs) 45 = ) 169 (= )
1.69h=[60] 2°03'36.00
sin62°12'24"=[10] (sin )62 'MS) 12 [Dm's) 24

= 0.884635235

Coordinate Conversions

Before performing a calculation, select the angular unit.

b Y
e _Plxy) P(r,)@
r
. >
'D "-\_,___x __,_,.-'-I e 4 _:l: .D _:{
Rectangular coord Polar coord

The calculation result is automatically stored in memories X and Y.

Value of r or x: X memory

Value of 8 or y: Y memory

17



[on/ie) s (2ndF) [ 0 ) 4
[x =6 {r = =Dld 7.211102551
Y =4 #=["] [e] 33.69006753
[r] 7.211102551

14 ()3
[r =14 _}[x [x] 11.32623792
e=36[] |\Y¥= (==)[r] 8.228993532
[x] 11.32623792

Modify Function

In this calculator, all calculation results are internally obtained in scientific notation with
up to 12 digits for the mantissa. However, since calculation results are displayed in the
form designated by the display notation and the number of decimal places indicated,
the internal calculation result may differ from that shown in the display. By using the
modify function, the internal value is converted to match that of the display, so that the
displayed value can be used without change in subsequent operations.

5+9=ANS ([@NIC) (2ndF) (FSE) (2ndF) (TAB) 1

ANSx9= (=09 (=) 0.6

[FIX,TAB=1] 9(=)" 5.0
5+ 19 (=) (2ndF) (MDF) 0.6
9 (=07 5.4
[2ndF) (FSE ) (2ndF) [FSE) [2ndF) (FSE)

*1 5.55555555555x10 'x9
*2 0.6x9

18



Statistical Calculations

Press (2ndF) (MO08) (1 J ¢4 select single-variable statics mode (274F) #008) (L2 ) anq to
select two-variable statistics mode. The following statistics can be obtained for each
statistical calculation (refer to the table below):

Single-variable statistical calculation: Statistics of 1 Linear regression calculation:
Statistics of 1 and 2 and, in addition, estimate of y for a given x (estimate y') and estimate
of x for a given y (estimate x')

T Mean of samples (x data)
SX Sample standard deviation (x data)
1 oX Population standard deviation (x data)
n Number of samples
X Sum of samples (x data)
T x> Sum of squares of samples (x data)
y Means of samples (y data)
sy Sample standard deviation (y data)
oy Population standard deviation (y data)
zy Sum of samples (y data)
2 Ty? Sum of squares of samples (y data)
Xy Sum of products of samples (x, y)
r Correlation coefficient
a Coefficient of regression equation
b Coefficient of regression equation

Entered data are kept in memory until 2ndF CA or 2ndF MODE 1 (2) are pressed. Before
entering new data, clear the memory contents.

[Data Entry]

Single-variable data

Data

Data = frequency (To enter multiples of the same data)

Two-variable data

Data x (+J) patay

Data x (=+J Data y CJ frequency (To enter multiples of the same data x
andy.)
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[Data Correction]
Correction prior to pressing :

Delete incorrect data with ON/C:
Correction after pressing :

Press (2 to confirm the latest entry and press 2ndF CD to delete it.

Single Variable Statistical Calculations

— Score—
95 (2ndF) [moog] 1 ] 0
80 95 1
80 80 2
75 3
75 753 6
75 50 7
50
= 75.71428571
= (oX7) 12.37179148
Ix= (] 530.
Ix'= 2x7) 41200.
8X = 13.3630621
sx = G0 =) 178.5714286

20



Regression Calculations

Given the two variable sample data (x, y), determine the standard deviation of data sets
x and y; the coefficients of the linear regression equation, and the correlation coefficient
between x and y.

% _}" (2ndF) [mooe) [ 2 ) 0.

2 5 2([&")5 1.

2 5 2.

12 | 24 12 24 3.
21 | 40 21 @) 40 () 3 o) 6.
21 | 40 15 25 7.
21 | 40 1.050261097
15 | 25 (b 1.826044386
) 0.995176343

8.541216597

&Y 15.67223812

The following values are estimated:

Xx=3—y's7 3 ¥y 6.528394256
Yy =46 — x'=? 48 (x) 24.61590706

Statistical Calculation Formulas

x =2 ox = [X=nX*
n

—
8x = IXing I=x1+x2+---+xn
Ix=xf+x2*+..-+xn?

_ ¥
¥="n oy fEr*-T"F

g,3,|-=||'21l"z‘"5"'2 Ixy=xiyi+x2y2+...+xnyn
n-1
Iy=yi1+y2+...¥yn
Zyizy f4y2i+---+yn?

(n: Number of samples)
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In the statistical calculation formulas, an error will occur when:

e the absolute value of the intermediate result or calculation result is equal to or
greater than 1x10'%,

e the denominator is zero.

e an attempt is made to take the square root or a negative number.

Error and Calculation Ranges

1. Errors

An error will occur if an operation exceeds the calculation ranges, or is a mathematically

illegal operation is attempted. When an error occurs, pressing B (or (B
automatically moves the cursor back to the place in the equation where the error
occurred. Edit the equation (see page 5) or press ON/C to clear the equation.

2. Error Codes and Error Types

Syntax error (error 1):

¢ An attempt was made to perform an invalid operation

Ex, 2 &P GO

Calculation error (Error 2):

e The absolute value of an intermediate or final calculation result equals or
exceeds 10'%.

e An attempt was made to divide by 0.

e The calculation ranges were exceeded while performing calculations.

Depth error (Error 3)

e The available number of buffers was exceeded. (There are 8 buffers* for numeric
values and 16 buffers for calculation instructions). *4 buffers in STAT mode.
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Equation too long (Error 4):

¢ The equation exceeded its maximum input buffer (142 characters). An equation
must be shorter than 142 characters.

3. Calculation Ranges

Within the ranges specified below, this calculator is accurate to +1 in the least significant
digit of the mantissa. When performing continuous calculations (including chain
calculations), errors accumulate leading to reduced accuracy.

Calculation ranges
+10 ~ 9.999999999x10% and 0.

If the absolute value of an entry or a final or intermediate result of a calculation is less
than 10, the value is considered to be 0 in calculations and in the display.

Function Dynamic range
sin x, cos x, tan x DEG: Ix|<10"
(tanx :|x |=80(2n-1))"
RAD: Ix | <55 x10"
(tanx :x =5 (2n-1))"
GRAD: x| <2 x10™

(tanx:|x|=100(2n-1))*

23



Function Dynamic range
sinx , cos™ |x | =1
tamx, yx x|<10™
Ine, loge 10"<x<10™
¥ >0: -10"< x log ¥ <100
o ¥ =0: O<x <10™
y* « ¥ <0:
o X =n(0<|x | <1:5-=2n-1,x =0)*
-10%x log|y| <100
.Y >0: -10"< £ logy <100(x =0)
. ¥ =(: 0<x <10™
fy” . ¥ <0: x=2n-1
(0<|x|<1z=n:x 2Q)*
-10"<¢ log ¥ <100
e* -10™<x<230.2585092
10* -10"<x <100
sinhx,coshx, | |x1<230.2585092
tanhx
sinh'x x |<10™
cosh”x 1<x <10”
tanh”X % |<1
x? |x |<10*
% 0<x <10™
X x |<10™(x =0)
n! 0<n<69*
0<r<n<9999999999*
nPr nl 1.
[I'ITF:I!{'ID

*(n, r: integer)
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Battery Replacement

Notes on Battery Replacement

Improper handling of batteries can cause electrolyte leakage or explosion. Be sure to
observe the following handling rules:

Relace both batteries at the same time.

Do not mix new and old batteries.

Make sure the new batteries are the correct type.

When installing, orient each battery properly as indicated in the calculator.
Batteries are factory-installed before shipment and may be exhausted before
they reach the service life stated in the specifications.

When to Replace the Batteries

If the display has poor contrast, the batteries require replacement.

Caution

Keep batteries out of the reach of children.

Exhausted batteries left in the calculator may leak and damage the calculator.
Explosion risk may be caused by incorrect handling.

Batteries must be replaced only with others of the same type.

Do not throw batteries into a fire as they may explode.

Replacement Procedure

1.Turn the power off by pressing 2ndF OFF.

2.Close the protective cover and remove two screws.

Then, slide the body slightly toward the direction of the arrow. (Fig. 1)

3.Slide the battery cover slightly and lift it to remove.

4.Install two new batteries.

5.Replace the back cover and screws.
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6.Press the RESET switch (on the back).

Make sure that the display appears as shown below. If the display does not appear as
shown, remove the batteries reinstall them and check the display once again.

—_—

oeg

Automatic Power Off Function

This calculator will turn itself off to save battery power if no key is pressed for
approximately 10 minutes.

Warranty Conditions

A new product purchased in the Alza.cz sales network is guaranteed for 2 years. If you
need repair or other services during the warranty period, contact the product seller
directly, you must provide the original proof of purchase with the date of purchase.

The following are considered to be a conflict with the warranty conditions, for
which the claimed claim may not be recognized:

e Using the product for any purpose other than that for which the product is intended
or failing to follow the instructions for maintenance, operation, and service of the
product.

e Damage to the product by a natural disaster, the intervention of an unauthorized
person or mechanically through the fault of the buyer (e.g., during transport,
cleaning by inappropriate means, etc.).

e Natural wear and aging of consumables or components during use (such as
batteries, etc.).

e Exposure to adverse external influences, such as sunlight and other radiation or
electromagnetic fields, fluid intrusion, object intrusion, mains overvoltage,
electrostatic discharge voltage (including lightning), faulty supply or input voltage and
inappropriate polarity of this voltage, chemical processes such as used power
supplies, etc.

¢ If anyone has made modifications, modifications, alterations to the design or
adaptation to change or extend the functions of the product compared to the
purchased design or use of non-original components.
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EU Declaration of Conformity

This product complies with EU requirements according to Directives 2014/30/EU (EMC)
and 2011/65/EU including amendments 2015/863/EU (RoHS).

C¢€

WEEE

This product must not be disposed of as normal household waste in accordance with
the EU Directive on Waste Electrical and Electronic Equipment (WEEE - 2012/19 / EU).
Instead, it shall be returned to the place of purchase or handed over to a public
collection point for the recyclable waste. By ensuring this product is disposed of
correctly, you will help prevent potential negative consequences for the environment
and human health, which could otherwise be caused by inappropriate waste handling of
this product. Contact your local authority or the nearest collection point for further
details. Improper disposal of this type of waste may result in fines in accordance with
national regulations.
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Vazeny zakazniku,

dékujeme vam za zakoupeni naseho produktu. Pfed prvnim pouZitim si prosim peclivé
prectéte nasledujici pokyny a uschovejte si tento navod k pouZziti pro budouci potfebu.
Zvlastni pozornost vénujte bezpecnostnim pokyniim. Pokud maéte k pfistroji jakékoli
dotazy nebo pfipominky, obratte se na zakaznickou linku.

= www.alza.cz/kontakt
© +420 255340 111
Dovozce Alza.cz a.s., Jankovcova 1522/53, HoleSovice, 170 00 Praha 7, www.alza.cz
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Uvod

Po precteni této prirucky ji uloZzte na vhodném misté pro budouci pouZiti.

Poznamka: Nékteré modely popsané v této pfiruc¢ce nemusi byt v nékterych zemich
dostupné.

Provozni poznamky

Pro zajiSténi bezproblémového provozu dodrzujte nasledujici body:

1. Kalkulacku nenoste v zadni kapse kalhot.

2. Nevystavujte kalkulacku extrémnim teplotam.

3. Neupoustéjte ji ani na ni nepouzivejte nadmeérnou silu.

4, Cistéte pouze mékkym, suchym hadfikem.

5. NepouZivejte ani neskladujte kalkulacku na mistech, kde na ni mohou stfikat tekutiny.
Spinac RESET stisknéte pouze v nasledujicich pripadech:

e PFi prvnim pouziti

e Povymeéneé baterii

e Vymazani celého obsahu paméti

e Pokud dojde k abnormalnimu stavu a vSechny klice jsou nefunkcni.

V pripadé potreby servisu této kalkulacky pouzijte pouze servisni stfedisko spolecnosti
SHARP, schvaleny servis spolecnosti SHARP nebo servis spolec¢nosti SHARP, pokud je k
dispozici.
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Ochranny kryt

Kalkulacka se dodava s krytem, ktery chrani klavesnici a displej, kdyz se kalkulacka
nepouziva.

1. ZatlaCte na zadni konec kalkulacky a poté ji posurite na opacny konec.

2.0tocte kalkulacku tak, aby se vesla do krytu.

e Pokud kalkulacku nepouzivate, vzdy zavrete kryt. (Chcete-li kryt zavfit, postupujte
opacné nez pfi otevirani.)

V pfipadé, Ze je kryt oddélen od hlavni jednotky, znovu jej nasadte podle nize uvedenych
krokd.
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Zobrazeni

Zobrazenirovnice —p| £ ¢ By = @ ok o=

= 20dF  HYPALPHA FIXSCIENG DEGRAD ERFN) M == | 4— SymbO|
o & _
- [£3 %5%% ;
Mantisa Exponent

(PFi skute€ném pouZiti se nezobrazuji vSechny symboly soucasné.)
Pokud se hodnota mantisy nevejde do rozsahu + 0,000000001 - + 9999999999, zméni se
zobrazeni na védeckou notaci. Rezim zobrazeni Ize zménit podle ucelu vypoctu.

Zobrazi se, pokud nelze zobrazit celou rovnici. Stisknutim tlacitka

~I= (O 72 zobrazite zbyvaijici (skrytou) cast.

2ndE Zobrazi se po stisknuti tlacitka 2ndF, coz znamena, Ze jsou povoleny
funkce zobrazené Zluté.
Oznacuje, Ze byl stisknut HYP a hyperbolické funkce jsou povoleny.

HYP Pokud jsou stisknuty 2ndF HYP, zobrazi se symboly "2ndF HYP", coz
znamena, Ze jsou povoleny inverzni hyperbolické funkce.

Alpha Indikuje, Ze byl stisknut 2ndF ALPHA nebo STO (RCL) a Ize provést
zadani (vyvolani) obsahu paméti a vyvolani statistik.
Oznacuje notaci pouZzitou pro zobrazeni hodnoty a méni se pri

FIX/SCI/ENG kazdém stisknuti 2ndF FSE.

DEG/RAD/GRAD Ukazuje Uhlové jednotky a méni se pFi kazdém stisknuti tlacitka
DRG.

STAT Zobrazi se, kdyz je vybran rezim statistiky.

M Oznacuje, Ze v nezavislé paméti je ulozena Ciselna hodnota.
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Pred pouzZitim kalkulacky
Zapis klict pouZity v této prFirucce

Zadani e*:
Zadani In: (In )
X

Zadani x: (2ndF)(ALPra) X )

Funkce, které jsou nad klavesou vytistény zluté, vyzaduji, abyste pred klavesou nejprve
stiskli 2ndF. Cisla nejsou zobrazena jako klavesy, ale jako oby&ejna €isla.

Zapnuti a vypnuti

Stisknutim tlacitka on/c kalkulacku zapnete a stisknutim tlacitka 2ndF OFF ji vypnete.

Metody vymazani

Existuji tfi nasledujici metody vymazani:

Operace vymazani Zadani (zobrazeni) M*! A-D, X, Y2 STAT, ANS
ON/C O X X
2ndF O X O
Obnoveni O O O
O : Vymazat
X: Zachovat

. Nezavisla pamét M.

*2 Docasné pameéti A-D, X a statisticka data a pamét posledni odpoveédi.
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Uprava rovnice

o Stisknutim tlacitka " nebo(®D presurite kurzor. K rovnici se m{Zete vratit
také po ziskani odpovédi stisknutim & (E) ), viz nize funkce pfehravani na
vice rfadcich.

e Pokud potfebujete Cislo vymazat, pfesunte kurzor na dislo, které chcete vymazat,
a stisknéte tlacitko. Cislo pod kurzorem bude vymazano.

e Pokud potfebujete vloZit Cislo, presurite kurzor na misto bezprostredné za
mistem, kam chcete Cislo vlozit, a pak Cislo zadejte.

Funkce viceradkového prehravani

Tato kalkulacka je vybavena funkci pro vyvolani pfedchozich rovnic. Rovnice obsahuji
také instrukce pro ukonceni vypoctu, jako je "=", a do paméti Ize ulozit maximalné
142znakd. KdyzZ je pamét pInd, uloZzené rovnice se vymazou v poradi od nejstarsi.
Stisknutim tlacitka CAJ se zobrazi pfedchozi rovnice a odpovéd. Dal$im stisknutim
CA) sezobrazi predchozi rovnice (po navratu na predchozi rovnici stisknéte (Y pro

zobrazeni rovnic v poradi). (&) | ze navic pouZzit pro pfechod na nejstarsi rovnici.

@ 3(5+2) oNg 35 (F)200)(C=) 2
@ 3x5+2 3(x)5(+)2(=) 7.
® 3¢5 + 3x2 3(xJs(+)3(x)2(=) 2
> Rovnice @ Ca) 21.
9Rovnice® v 17.
- Rovnice ® (v) 21.
9Rovnice® [IJ 17.

Viceradkova pamét se maze nasledujicimi operacemi:[zm”fJ (cA ), (2naF) (OFF)

(véetné funkce automatického vypnuti), zména rezimu, RESET, 2ndF) (anoou) (2ndF) (ANS)
vypocet konstanty, pfevod / zména Uhlu, pfevod souradnic, ukladani ¢iselnych hodnot
do docasnych paméti a nezavislé paméti a zadavani / mazani statistickych tdajd.
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Urovné priority pFi vypoétu

Tato kalkulacka provadi operace podle nasleduijici priority:

@ Funkce, pfed kterymi je uveden jejich argument (x, x? n! atd.).
@

nasledované svym argumentem (sin, cos, ; etc.)@J implikované nasobeni funkce
(2sin30,etc.).

® nCr, nPr, @ x, + +, - @@=, M+, M-, =M, p DEG,
pRAD,p GRAD,DATA,CD,—r6,—xy

®YX v @ Implikované nasobeni pamétové hodnoty (2Y, etc.)~ Funkce

a dalSi pokyny pro ukonceni vypoctu

Pokud jsou pouzity zavorky, maji vypocty v zavorkach prednost pred ostatnimi vypocty.

Pocatecni nastaveni

Vybér reZimu

Normalni rezim: o)

Slouzi k provadeéni aritmetickych operaci a funkénich vypocta.

ReZim statistiky jedné proménné: (2ndf) (MODE) (1 )

Slouzi k provadeéni statistickych vypoctl s 1 proménnoul.

ReZim statistiky dvou promé&nnych: (2ndF) (MODE) (_ 2 )

SlouZi k provadéni statistickych vypoctl se dvémi proménnymi.

PFi volbé reZimu se docasné paméti, statisticka data a pamét posledni odpovédi
vymazou i pfi opétovné volbé stejného rezimu.
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Vybér zapisu a desetinnych mist na displeji

Kalkulacka ma Ctyri systémy notace pro zobrazeni vysledkd vypoctu. Pokud je zobrazen
symbol FIX, SCl nebo ENG, Ize pocet desetinnych mist nastavit na libovolnou hodnotu v
rozmezi 0 az 9. Zobrazené hodnoty se zmensi na odpovidajici pocet ¢islic.

:I:)I(:)\?:z;;;rka] [ONTT) 100000 (=) 3(_=_) 33333.33333
. 2 33333.33333
[Pevna desetinna carkal]
[TAB nastaveno na 2] (T8 ) 2 3933339
[V&decky zapis] (2ndF) (ESE) 3.33x10°
[InZenyrska notace] (FsE) 33.33x10°
oy, (2ndF) (FSE) 33333.33333

[Plovouci carkal

Pokud se hodnota pro systém s plovouci desetinnou carkou nevejde do nasledujiciho
rozsahu, kalkulacka zobrazi vysledek pomoci systému védeckého zapisu:
0.000000001 < | x| <9999999999

Urceni uhlové jednotky

V této kalkulacce Ize zadat nasledujici tfi thlové jednotky.

» DEG(")

/ Press(DRG
L

DRAD(g) RAD [Radians)

N
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Védecké vypocty

Stisknutim tla¢itka 2=t teoe) L2 ) yherte normalni rezim.
V kazdém pfrikladu stisknéte tla¢itko @S " ¢imz vymazete disple;j.

Pokud je zobrazen indikator FIX, SCI nebo ENG, vymaZte indikator stisknutim tlacitka

Aritmetické operace / konstantni vypocty

45+285+3= (oniC) 45 285203 =D 140.

18+6 _ (D18 (D 6 (D (=)

15-8 (0015 =D 8 (="  3.428571429

42x(-5)+120= 42 EFH5F)120=) -90.
{'{5 @) Erl

® & @ @

T 8 ¥ ®

(5X10")+(4X10")= s5(Er)3(=Ja(Exe]

I 1250000.
34+57= 34 (1) 57 =)° 91.
45+57= 45 =) 102.
68x25= 68 (XJ 25=" 1700.
68x40= 40=) 2720.

Uzaviraci zavorku ) tésné pred = nebo M+ Ize vynechat.
Z doplriku se stane konstanta. Od¢itani a déleni se provadi stejnym zplsobem.
Nasobek se stane konstantou.

Pfi provadéni vypoctl pomoci konstant se konstanty zobrazi jako K.
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Funkce

Pred zahajenim vypoctl zadejte Uhlovou jednotku.

sin60["]= @NE) Gin) 80 (=) 0.866025403
cgsj:_[rad]: [(ORG] (cos J L (T Jm J = 14

= 0.707106781
tan"q=[9] (ORE) (ZndF) (fan] 1 =) 50.

Vysledky inverznich trigonometrickych funkci se zobrazuji v nasledujicim rozsahu:

B =sin"X, a=tan'X 8= cos' e
DEG -90=8=<90 O<zes 180
RAD -Fzes% Osesm
GRAD -100=8=< 100 O=e=< 200
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cosh 1.5+ (enig) (O (Fve) (eos) 1.5 (=) (e
sinh 1.5)°= Go1s(EDE) 20.08553692
—- (2ndF) (archyp) (tan) (T 5
! (=) 0.895879734
In20 = (In) 20 (=) 2.995732274
log 50 = (Tog) 50 (=) 1.698970004
o'= GndF) (&) 3 (=) 20.08553692
10'= @ndF) (15) 1.7 (=) 50.11872336
S 6 (2ndF) [(x ) [+ )7 (2ndF]
B T "
(x) (=) 0.309523809
g3y 5= By J(=-)2[=Jal¥y")
) s (=) -2024.984375
(12 3= 124
! COE) (=D 6.447419591
JAG = /87 = ()49 (=) 4 @ndd) (57
8= 4,
41 = 4 @ndf) CnD) (=1 24.
wPsi= 10 @af) (P 3 (=) 720.
WCas= E2ndF (aC ) 2( = ) 10.
500x25% = 500 (%) 25 @naf) (%) 125.
120+400=7% 120 (=) 400 EndF) () 30.
500+(500x25%)= 500 (=) 25 Enaf) (%) 625.
400-(400x30%)= 400 (=) 30 @ndF) (%) 280.
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Nahodna cCisla

Pseudonahodné Cislo se tfemi vyznamnymi Cislicemi |ze vygenerovat stisknutim tlacitka
(=] . Dal3i ndhodné ¢islo vygenerujete stisknutim tla¢itka = . Tuto funkci
muUZete provadét v normalnim rezimu a v rezimu statistiky.

Nahodna cisla pouZzivaji pamét Y. Kazdé nahodné Cislo je generovano na zakladé
hodnoty uloZzené v paméti Y (pseudonahodna ciselna fada).

Prevody uhlovych jednotek

90° - [rad] (ONIE) 90 (2ndF) (DEGH) 1.570796327
- [g] 100.
- [°] 90.
sin” 0.8=["] (2ndfF) (8in") 0.8 (=) 53.13010235
- [rad] 0.927295218
- [9] 59.03344706
=[] DEG K 53.13010235
Vypocty paméti

Tato kalkulacka ma 6 docasnych paméti (A-D, X a Y), jednu nezavislou pamét (M) a jednu
pamét pro posledni odpovéd. Nezavisla pamét a docasné paméti jsou k dispozici pouze
v normalnim rezimu.

[Docasné pameéti (A-D, X a Y)]

UloZenou hodnotu Ize vyvolat jako hodnotu nebo proménnou pro pouziti v rovnicich. V
pripadé, Ze do paméti ulozite nekonecnou desetinnou hodnotu, vyvolate ji jako
promeénnou, abyste ziskali pfesné odpovedi.

Priklad:

10+ ) 3(STO) LY ) (0.3333........ Je uloZeno do
J(x JRCLI LY J(_=) 0.999999999
3 (X)) @ndP) (aewd) CY J(C=) 1.
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Nezavisla pamét (M)]

Kromé vSech funkci doCasnych paméti Ize k existujici hodnoté paméti pricist nebo od ni
odecist hodnotu.

Pamét posledni odpovédi (ANS)]

Vysledek vypoctu ziskany stisknutim = nebo jiného pfikazu pro ukonceni vypoctu se
automaticky uloZi do paméti posledni odpovédi.

Poznamka:

Vysledky vypoctl z nize uvedenych funkci se automaticky ukladaji do paméti X nebo Y. Z
tohoto dlvodu budte pri pouZivani téchto funkci opatrni pfi pouzivani paméti X a Y.

Nahodna disla................. PamétyY
D 10,2 XYerereeieiireeieseeiee Pamét X, pamét Y

Docasné paméti a pamét posledni odpovédi se vymazou i pfi opétovném vybéru
stejného rezimu.

[ON/Cl e[ x )2 (STO)( M ) 16.
24 +(Bx2)= 24+ J(ReLJC M I =) 1.5
(Bx2)x5= (RCL) [ M ) = ]85 =] &80.

[ON/C) [BTO] [ M ] 0.
$150x3:M1 150 %) 3 450.
+)$250:M2=M1+250 250 250.
-Mzx5%:Discount  [RCL][ M J [ x J5([2ndF)[_% ) 35,
Total=M (ZndF] [ M- J[RCL][ M ) 665.
$1=%140 140 (5TO) (v _) 140.
%33, 775=%7 33775 [+ J(REL) [ ¥ ) =1 241.25
$2.750=% 7 2750 x J(RCL)C ¥ J( =1 385000.
r=3em 3 3.
mri=? [ m ] [2ndF) (aALrHaA)”
(r—Y) (¥ J(x*) (=1 28.27433388

a0 Je (=81
24 _ = 2.4
avg 24 (A) 3 (%) (ZodF) (ARS) (=) 60 ()
3x(A)+60+(A)= (2ndF) (ANS) (=) 32.2

* Mezi " " a proménnou je vynechan zapis postupu nasobeni.
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Vypocty rFetézce

Tato kalkulacka umoZzniuje pouzit vysledek predchoziho vypoctu v nasledujicim vypoctu.

B+4=ANS [oNiE)e [+ J4(_= ) 10.
ANS+5 5= 15.
44+3T=ANS 44 T =) 81.
JANS =) 9.

Po zadani vice pokynu se predchozi vysledek vypoctu nevyvola.

Vypocty frakci

¢ Desetinné cislo, proménnou nebo exponent nelze zadat jako zlomek.

e Ve vsech pfipadech Ize zadat celkem az 10 ¢islic v€etné celého Cisla, Citatele,
jmenovatele a symbolu (7).

e Pokud je pocet Cislic, které se maji zobrazit, vétsi nez 10, cislo se prevede na
desetinné Cislo a zobrazi se jako desetinné Cislo.

31+£—[aE] (ON/C) 3 (abic ) 1(abic) 2 + )

273 s (@03 (=) 4506
—[a.xxx] 4.833333333
—[d/c] 296
1D_i= (2ndF ) [ 10" )2 (ablc) 3

= 4.641588834
1.25+ % =[a.xxx] 1.25 (+ )2 (&) 5 (=) 1.65
~lag] 11320

4r5r6=4g
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Vypocty €asu, desetinnych a Sestinnych Cisel

Lze provadét prevody mezi desetinnymi a Sestinnymi Cisly. Kromé toho Ize pomoci
Sestnactkové soustavy provadét Ctyri zakladni aritmetické operace a pamétové vypocty.

12°39'18"05 (ON/C) 12 [D'M'S) 39 [OMS) 18 [O'M'E) 5
~[10] 12.65501389
123 678 123 678 123°40'40.80
—[60]
3h30m45s+ 3 [O'M's] 30 [OM'S) 45 (_+ )6 (D'M'S)
6h45m36s=[60] 4sOMg 36 = ) 10°16°21.00
3h45m - somg 45 (=) 169 (=)
1.69h=[60] 2°03'36.00
sin62°12'24"=[10] (sin )62 D'MS) 12 [D'M'S) 24

=) 0.884635235

Prevody souradnic

PFed provedenim vypoctu vyberte Uhlovou jednotku.

Y
p(r,)®
r
0 X
ObdéInikovéa souradnice Polarni souradnice

Vysledek vypoctu se automaticky uloZi do paméti X a Y.
Hodnota r nebo x: X pamét

Hodnota 6 nebo y: Y pamét
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[©NIC) 6 (2ndF) (2 4

[x =6 {r = =Dld 7.211102551

Y =4 #=["] [e] 33.69006753
[r] 7.211102551
14 (~ Jas

[r =14 _}[x = [x] 11.32623792

e=36["] \¥ = (== [v] 8.228993532
[x] 11.32623792

Upravit funkci

V této kalkulacce jsou vSechny vysledky vypoctl interné ziskavany ve védecké notaci s az
12 Cislicemi pro mantisu. ProtoZze se vSak vysledky vypoctu zobrazuji ve tvaru ureném
notaci na displeji a uvedenym poctem desetinnych mist, mdze se interni vysledek
vypoctu liSit od vysledku zobrazeného na displeji. Pomoci funkce modify se interni
hodnota prevede tak, aby odpovidala hodnoté na displeji, takze zobrazenou hodnotu Ize
beze zmény pouzit pfi dalSich operacich.

5+9=ANS ([@NIC) (2ndF) (FSE) (2ndF) (TAB) 1

ANSx9= (=09 (=) 0.6

[FIX,TAB=1] 9(=)" 5.0
5+ 19 (=) (2ndF) (MDF) 0.6
9 (=07 5.4
[2ndF) (FSE ) (2ndF) [FSE) [2ndF) (FSE)

*1 5.55555555555x10 'x9
*2 0.6x9
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Statistické vypocty

Stisknutim tlacitka@n¢F) M998) (1 ) \yperte rezim statiky s jednou proménnou

(2ndF) (o0g] (L2 ) 3 rezim statistiky se dvéma proménnymi. Pro kaZzdy statisticky vypocet
|ze ziskat nasledujici statistiky (viz tabulka nize):

Statisticky vypocet s jednou proménnou: Statistika 1 Linearni regresni vypocet: Statistiky
1 a2 anavicodhad y pro dané x (odhad y') a odhad x pro dané y (odhad x').

x Priimér vzorkl (x Udaja)
SX Smérodatna odchylka vzorku (Udaje x)
1 oX Smérodatna odchylka populace (Udaje x)
n Pocet vzork(
X Soucet vzorkt (x dat)
T x> Soucet Ctvercd vzorkd (Gdaje x)
y Priiméry vzorkl (Udaje y)
sy Smérodatna odchylka vzorku (Udaje y)
oy Smérodatna odchylka populace (Udaje y)
Ty Soucet vzorkl (Udaje y)
2 Ty? Soucet ¢tvercd vzork( (Udaje y)
XY Soucet soucinli vzorkd (x, y)

Korelac¢ni koeficient

Koeficient regresni rovnice

ol T

Koeficient regresni rovnice

Zadané Udaje se uchovavaji v paméti, dokud nestisknete tlacitko 2ndF CA nebo 2ndF
MODE 1 (2). Pfed zadavanim novych Udajd vymaZzte obsah paméti.

[Zadavani dat]
Data s jednou proménnou

Data

Frekvence  dat & (pro zadani nasobkul stejnych dat)

Data dvou proménnych

Data x(®+J Datay

Data x ®+J pata y[ " frekvence @™ (Pro zadani nasobk( stejnych dat x a y.)
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[Oprava dat]
Oprava pred stisknutim :
Odstranéni nespravnych udaja pomoci ON/C:

Oprava po stisknuti &™)

Stisknutim tla¢itka (2 potvrdte posledni zaznam a stisknutim tlacitka 2ndF CD
jej vymarzte.

Statistické vypocty s jednou proménnou

— Score

95 (2ndF) [mops) (1 ) 0
80 95 1
80 80 2
75 3
75 75 (3 6
75 50 7

50
X = 75.71428571
oxX = (%) 12.37179148
Ix= (x) 530.
Ixi= (3% 41200.
8xX = 13.3630621
sx = (x) (=) 178.5714286

Regresni vypocty

PFi zadani dvou proménnych vybérovych dat (x, y) urete smérodatnou odchylku
soubord dat x a y, koeficienty rovnice linearni regrese a korela¢ni koeficient mezi x a y.

x [ ¥y (2ndF) (moDE) [ 2 ) 0.
2 5 2 5 1.
2 5 2.
12 | 24 12 24 3.
21 | 40 21 @) 40 () 3 ([@am) 6.
21 | 40 15 25 7.
21 | 40 1.050261097
15 | 25 b 1.826044386

) 0.995176343

8.541216597

&Y 15.67223812



Odhaduiji se nasledujici hodnoty:

x=3-y's? 3 (@naF) () 6.528394256
Yy =46 — x'=7 46 (ZnaF) (x1 ) 24.61590706

Vzorce pro statistické vypocty

—_iX - an i

—
8x = IXing I=x1+x2+---+xn

Int=xf+x2*+---+xn?

F=n uy=/£f+f’

sy = zy*ny* Ixy=xiyi+x2y2+...+xnyn

Iy=y1+y2+...¥n
Iy*=y f+y2*+---+yn?

(n: pocet vzorka)
Ve vzorcich statistického vypoctu dojde k chybég, pokud:

e absolutni hodnota mezivysledku nebo vysledku vypoctu je rovna nebo vétsi nez
1x10'%,

e jmenovatel je nulovy.

e je proveden pokus o druhou odmocninu nebo zaporné cislo.

Chyby a rozsahy vypoctl
1. Chyby

K chybé dojde, pokud operace prekrodi rozsahy vypoctu nebo se jedna o matematicky

nedovolenou operaci. Pokud dojde k chybé, stisknutim tlacitka (O (nebo (B J ) se
kurzor automaticky presune zpét na misto v rovnici, kde doslo k chybé. Upravte rovnici
(viz strana 5) nebo stisknutim tlacitka ON/C rovnici vymazte.
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2. Chybové kédy a typy chyb

Chyba syntaxe (chyba 1):

e Byl uc¢inén pokus o provedeni neplatné operace
Ex. 2 2ndF) [—=I8]

Chyba vypoctu (Chyba 2):

e Absolutni hodnota mezivysledku nebo kone¢ného vysledku vypoctu je rovna
nebo vy3si nez 10'%,

e Byl proveden pokus o déleni nulou.

e Priprovadéni vypoctl byly prekroceny rozsahy vypoctu.

Chyba hloubky (Chyba 3)

e Byl prekrocen dostupny pocet vyrovnavacich paméti. (K dispozici je 8
vyrovnavacich paméti* pro ¢iselné hodnoty a 16 vyrovnavacich paméti pro
vypocetni instrukce). *4 vyrovnavaci paméti v rezimu STAT.

P¥iliS dlouha rovnice (chyba 4):

e Rovnice prekrocila maximalni vstupni vyrovnavaci pamét (142 znaku). Rovnice
musi byt kratSi nez 142 znakd.

3. Rozsahy vypoctl

V rdmci nize uvedenych rozsahu je tato kalkulacka presna s presnosti +1 na nejméné
vyznamnou Cislici mantisy. PFi provadéni spojitych vypoctl (vcetné retézovych vypoctl)
dochazi ke kumulaci chyb, coz vede ke snizeni presnosti.

Rozsahy vypoctu
+10 ~ 9,999999999x10% a 0.

Pokud je absolutni hodnota polozky nebo konecného ¢i mezivysledku vypoctu mensi nez
10", povaZuje se pfi vypoctech a na displeji za hodnotu 0.

Funkce Dynamicky rozsah
sin X, cos X, tan x DEG: Ix|<10"
(tanx :|x |=80(2n-1))*
RAD: x| <755 x10™
(tanx:|x |= 2 (2n-1))"
GRAD: X | <5 x10"

(tanx :|x |=100(2n-1))*
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Funkce Dynamicky rozsah
sin'x , cos™ x| <1
tamk, yx x|<10™
Ine, loge 10"<x <10
¥ >0: -10"< x log ¥ <100
s ¥ =0: O<x <10"
y* o ¥ <0:
o X =n(0<|x | <1:5-=2n-1,x =0)*
-10%x log|y| <100
.Y >0: -10"< £ logy <100(x =0)
« ¥ =0: 0<x <10”
fy” o ¥ <) x =2n-1
(0<|x|<15=n:x 20)*
-10"<¢ log ¥ <100
e* -10™<x<230.2585092
10* -10"<x <100
sinhx,coshx, Ix |<230.2585092
tanhx
sinh'x x |<10™
cosh”x 1<x<10”
tanh”X % |<1
x? |x |<10*
% 0<x <10™
X X |<10™(x =0)
n! 0<n<69*
0<r<n<9999999999*
nPr n! ™
[I'ITF:I!{'ID

*(n, r: celé ¢islo)
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Vyména baterie
Poznamky k vymeéné baterie

Nespravna manipulace s bateriemi mUZe zpUsobit Unik elektrolytu nebo vybuch. Dbejte

na dodrzovani nasledujicich pravidel manipulace:

e Vyménte obé baterie najednou.

e Nemichejte nové a staré baterie.

e Zkontrolujte, zda jsou nové baterie spravného typu.

e Priinstalaci orientujte kazdou baterii spravné podle Udajl v kalkulacce.

e Baterie jsou instalovany z vyroby prfed odeslanim a mohou byt vyCerpany drive,

nez dosahnou Zivotnosti uvedené ve specifikacich.

Kdy vyménit baterie

Pokud je displej Spatné kontrastni, je tfeba vyménit baterie.

Upozornéni

e Baterie uchovavejte mimo dosah déti.

e Vybité baterie ponechané v kalkulacce mohou vytéct a kalkulacku poskodit.
e Nebezpedi vybuchu mize byt zplsobeno nespravnou manipulaci.

e Baterie Ize vyménit pouze za jiné stejného typu.

¢ Nevhazujte baterie do ohné, protoze mohou explodovat.

Postup vymény

1. Vypnéte napajeni stisknutim tlacitka 2ndF OFF.
2. Zavrete ochranny kryt a odstrarite dva Srouby.

Poté télo mirné posurite ve sméru Sipky. (Obr. 1)
3. Mirné posunte kryt baterie a zvednutim jej vyjméte.
4. Nainstalujte dvé nové baterie.
5. Vratte zadni kryt a Srouby.

6.Stisknéte spinac RESET (na zadni strang).

Ujistéte se, Ze se na displeji zobrazi nasledujici obrazek. Pokud se displej nezobrazuje

podle obrazku, vyjméte baterie, znovu je vlozZte a zkontrolujte displej jesté jednou.

DEa

—_
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Funkce automatického vypnuti

Pokud po dobu pfiblizné 10 minut nestisknete zadnou klavesu, kalkulacka se sama
vypne, aby Setfila energii baterie.

Zarucni podminky

Na novy vyrobek zakoupeny v prodejni siti Alza.cz se vztahuje zaruka 2 roky. V pfipadé
potrfeby opravy nebo jiného servisu v zaru¢ni dobé se obratte prfimo na prodejce
vyrobku, je nutné predloZzit originalni doklad o koupi s datem nakupu.

Za rozpor se zarucnimi podminkami, pro ktery nelze reklamaci uznat, se povazuji
nasledujici skutecnosti:

Pouzivani vyrobku k jinému Ucelu, nez pro ktery je vyrobek urcen, nebo
nedodrzovani pokyn( pro udrZzbu, provoz a servis vyrobku.

PoSkozeni vyrobku pFirodnimi podminkami, zasahem neopravnéné osoby nebo
mechanicky vinou kupujiciho (napf. pfi pfepravé, ¢isténi nevhodnymi prostredky
apod.).

Pfirozené opotfebeni a starnuti spotfebniho materialu nebo soucasti béhem
pouZzivani (napf. baterii atd.).

Plsobeni nepfiznivych vnéjsich vlivl, jako je slunecni zareni a jiné zareni nebo
elektromagnetické pole, vniknuti kapaliny, vniknuti pfedmétu, prepéti v siti,
elektrostaticky vyboj (vCetné blesku), vadné napajeci nebo vstupni napéti a nevhodna
polarita tohoto napéti, chemické procesy, napf. pouzité zdroje atd.

Pokud nékdo proved! Upravy, modifikace, zmény konstrukce nebo adaptace za
ucelem zmény nebo rozsifeni funkci vyrobku oproti zakoupené konstrukci nebo
pouziti neoriginalnich soucasti.
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EU prohlaseni o shodé

Tento vyrobek splfiuje pozadavky EU podle smérnic 2014/30/EU (EMC) a 2011/65/EU
v€etné zmén 2015/863/EU (RoHS).

C¢€

WEEE

Tento vyrobek nesmi byt likvidovan jako bézny domovni odpad v souladu se smérnici EU
o odpadnich elektrickych a elektronickych zafizenich (WEEE - 2012/19/EU). Misto toho
musi byt vracen na misto nakupu nebo predan na verejné sbérné misto
recyklovatelného odpadu. Tim, Ze zajistite spravnou likvidaci tohoto vyrobku, pomUZete
predejit moznym negativnim dlsledkim pro Zivotni prostredi a lidské zdravi, které by
jinak mohly byt zplsobeny nevhodnym naklddanim s odpadem z tohoto vyrobku. Dalsi
informace ziskate na mistnim uradé nebo na nejblizSim sbérném misté. Nespravna
likvidace tohoto typu odpadu mUZe mit za nasledek pokuty v souladu s vnitrostatnimi

predpisy.
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Vazeny zakaznik,

dakujeme vam za zakUpenie nasho vyrobku. Pred prvym pouZitim si pozorne precitajte
nasledujuce pokyny a uschovaijte si tento navod na pouzitie pre buduce poufzitie. Venujte
osobitnu pozornost bezpecnostnym pokynom. Ak mate akékolvek otazky alebo
pripomienky k zariadeniu, obratte sa na zakaznicku linku.

= www.alza.sk/kontakt
© +421 257 101 800
Dovozca Alza.cz a.s., Jankovcova 1522/53, HoleSovice, 170 00 Praha 7, www.alza.cz
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Uvod

Po precitani tejto prirucky ju uloZte na vhodnom mieste pre buduce pouritie.

Poznamka: Niektoré modely opisané v tejto prirucke nemusia byt v niektorych krajinach
dostupné.

Prevadzkové poznamky

Na zabezpecenie bezproblémovej prevadzky dodrziavajte nasledujice body:
1. Kalkulacku nenoste v zadnom vrecku nohavic.

2. Nevystavujte kalkulacku extrémnym teplotam.

3. Nepustajte ju ani na fnu nepouzivajte nadmernu silu.

4. Cistite len makkou a suchou handri¢kou.

5. NepouZivajte ani neskladujte kalkulacku na miestach, kde na nu mézu striekat
tekutiny.

Spinac RESET stlacte len v nasledujucich pripadoch:

e Pri prvom pouZiti

e Povymene batérii

e Vymazanie celého obsahu pamate

¢ Ked nastane abnormalny stav a vsetky kltce su nefunkcné.

Ak by bol potrebny servis tejto kalkulacky, pouZite len servisného predajcu SHARP,
servisné zariadenie schvalené spoloc¢nostou SHARP alebo servis SHARP, ak je k dispozicii.
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Ochranny kryt

Kalkulacka sa dodava s krytom, ktory chrani klavesnicu a displej, ked sa kalkulacka
nepouziva.

1. ZatlaCte zadny koniec kalkulacky a potom ho posurite na opacny koniec.

2. Otocte kalkulacku tak, aby sa zmestila do krytu.

e Ked kalkulacku nepouzivate, vzdy zatvorte kryt. (Ak chcete kryt zatvorit,
postupujte opacne ako pri otvarani.)

V pripade, Ze je kryt oddeleny od hlavnej jednotky, znovu ho pripevnite podla nizSie
uvedenych krokov.
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Zobrazit

. . = 20dF  HYPALPHA FIXSCIENG DEGRAD ERFN) M == | 4— SymbO|
EquationDis —» | £ s M B @ 4G o & & @ 3 _
> |- 1234567890
Mantisa Exponent

(Pocas skutocného pouzivania sa nezobrazuju vSetky symboly sucasne.)
Ak sa hodnota mantisy nezmesti do rozsahu + 0,000000001 - £ 9999999999, zobrazenie
sa zmeni na vedecky zapis. Rezim zobrazenia je mozné zmenit podla ucelu vypoctu.

e Zobrazi sa, ked nie je mozné zobrazit celd rovnicu. Stlacenim
tlacidlat / (2 zoprazite zostavajucu (skrytu) cast

2ndF Zobrazi sa po stlaceni 2ndF, ¢o znamena, Ze funkcie zobrazené
ZItou farbou su povolené.

HYP Oznacuje, Ze bolo stlacené tlacidlo HYP a hyperbolické funkcie su

povolené. Ak su stlacené 2ndF hyp, zobrazia sa symboly "2ndF
HYP", o znamena, Ze su povolené inverzné hyperbolické funkcie.

Alfa Signalizuje, Ze bol stlaceny 2ndF APLHA alebo STO (RCL) a je mozné
vykonat zadanie (vyvolanie) obsahu pamate a vyvolanie Statistik.
FIX/SCI/ENG Oznacuje zapis pouZzity na zobrazenie hodnoty a meni sa pri

kazdom stlaceni 2ndF FSE.

DEG/RAD/GRAD Oznacuje uhlové jednotky a meni sa pri kazdom stlaceni DRG

STAT Zobrazi sa, ked je zvoleny rezim Statistiky.

M Oznacuje, Ze v nezavislej pamati je uloZena Ciselna hodnota.
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Pred pouzZitim kalkulacky
Zapis kluc€ov pouZity v tejto prirucke

i Zadanie adresy

-
X Zadanie In: (In )
Zadanie x: (2ndF) (aLPrA) (X )

Funkcie, ktoré su vytlacené Zltou farbou nad klavesom, vyZaduju, aby ste najprv stlacili
2ndF a aZ potom klaves. Cisla sa nezobrazuju ako klavesy, ale ako oby¢ajné ¢isla.

Zapnutie a vypnutie napajania

Stlacenim tlacidla on/c zapnite kalkulacku a stlacenim tlacidla 2ndF OFF ju vypnite.

Metdédy zuctovania

Existuju tri nasledujuce metddy zuctovania:

Operacia Vstup (zobrazenie) M A-D, X, Y2 STAT, ANS
zuctovania
ON/C O X X
2ndF O X O
Obnovenie @) @) O
O | ,
:Jasné

X: Zachovaijte

*1: Nezavisla paméat M.

*2 Docasné pamate A-D, X a Statistické Udaje a pamat poslednej odpovede.
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Uprava rovnice

« Stlacenim tlacidla"® alebo®) presuniete kurzor . K rovnici sa mozete vratit aj

po ziskani odpovede stlacenim tlagidla = (E) ) . Viacriadkové prehravanie
najdete niZsie.

e Ak potrebujete vymazat Cislo, posurite kurzor na ¢islo, ktoré chcete vymazat, a
potom stlacte tlagidlo . Cislo pod kurzorom sa vymaze.

e Ak potrebujete vloZit ¢islo, presunte kurzor na miesto bezprostredne za miestom,
kam chcete Cislo vloZit, a potom ho zadajte.

Funkcia viacriadkového prehravania

Tato kalkulacka je vybavena funkciou na vyvolanie predchadzajdcich rovnic. Rovnice
obsahuju aj pokyny na ukoncenie vypoctu, ako napriklad "=", a do pamate mozno ulozit
maximalne 142znakov. Ked sa pamat zaplni ,ulozené rovnice sa vymazu v poradi od
najstarej k prvej. Stlacenim tlacidlaCAJ sa zobrazi predchédzajlica rovnica a odpoved.
Dal3im stlatenim CAD sa zobrazia predchadzajuce rovnice (po navrate na
predchadzajucu rovnicu stlacte (Y pre zobrazenie rovnic v poradi). In navyse,

C4J Mozno pouzit na skok na najstarsiu rovnicu.

@ 3(5+2) ONQ 3(()5(F)20)(=) 2
@ 3x5+2 3(x)5(*)2(=) 7.
® a5+ 202 3005 ()3 0J2(=) =
> Rovnica @ (a) 21.
9Rovnica® ) 17.
- Rovnica ® vy 21.
9Rovnica® [I,J 17.

Viacriadkova pamat sa vymaze nasledujucimi operéciami:[Q"dF] (ca), (2ndF) (OFF)

(vratane funkcie automatického vypnutia),zmena rezimu ,RESET, ,

, vypocet konstanty, prevod/zmeny uhla, prevod suradnic, ukladanie

Ciselnych hodn6t do docasnych pamati a nezavislej pamate a vkladanie/vymazavanie
Statistickych udajov.
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Urovne priority pri vypoécte

Tato kalkulacka vykonava operacie podla nasledujucej priority:
@ Funkcie, pred ktorymi je uvedeny ich argument (x', x? n! atd.)
@

nasledované ich argumentom (sin, cos, ; atd'.)@J implikované nasobenie funkcie
(2sin30,atd.)

® nCr, nPr, @ x, + +, - @@=, M+, M-, =M, p DEG,
pRAD,p GRAD,DATA,CD,—r6,—xy

vypoctu

®YX v @ Implikované nasobenie pamatovej hodnoty (2Y, atd.)~ Funkcie

a dalSie pokyny na ukoncenie

Ak sa pouziju zatvorky, vypocCty v zatvorkach maju prednost pred ostatnymi vypoctami.

PocCiatoCné nastavenie

Vyber rezimu

Normalny reZim: o

SlUZi na vykonavanie aritmetickych operacii a vypoctov funkcii.

ReZim 3tatistiky jednej premennej: (209F) (MODE) (1 )

SIUZi na vykonavanie Statistickych vypoctov s 1 premennoul.

ReZim Statistiky dvoch premennych: (2ndF) (MODE) (2 )

SIUZi na vykonavanie Statistickych vypoctov s 2 premennymi.

Pri volbe reZimu sa docasné pamate, Statistické udaje a pamat poslednej odpovede
vymazu aj pri opatovnej volbe toho istého rezimu.
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Vyber zapisu a desatinnych miest na displeji

Kalkulacka ma Styri systémy zobrazenia notacie na zobrazenie vysledkov vypoctov. Ked
je zobrazeny symbol FIX, SClI alebo ENG, pocet desatinnych miest méze byt nastaveny na
lubovolnu hodnotu od 0 do 9. Zobrazené hodnoty sa zmensia na prislusny pocet ¢islic.

::I(;\(l)gj(:]::;arka] [ON/C) 100000 = )3 =) 33333.33333
33333.33333

[Pevna desatinna Ciarka] (2ndF) LFSE]

[TAB nastaveny na 2] (T28) 2 3333333

[Vedecky zapis] (2ndF) (ESE) 3.33x10°

[InZiniersky zapis] (ESE) 33.33x10°

[Plavajica Eiarkal (2ndF) (FSE) 3333333333

Ak sa hodnota pre systém s pohyblivou radovou cCiarkou nezmesti do nasledujuceho
rozsahu, kalkulacka zobrazi vysledok pomocou systému vedeckého zapisu:
0.000000001 < | x| <9999999999

Urcenie uhlovej jednotky

V tejto kalkulacke je mozné zadat tieto tri uhlové jednotky.

» DEG(")

/ Press(DRG
L

DRAD(g) RAD [Radians)

N
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Vedecké vypocty

Stlatenim tlacidla 2" (o0e) L2 J yyherte normalny rezim.

V kazdom priklade stlatte @S aby ste vymazali dislay.

Ak sa zobrazi indikator FIX, SCI alebo ENG, vymaZzte indikator stlacenim tlacidla®®)

Aritmetické operacie/konstantné vypocty

45+285+3= (oniC) 45 285203 =D 140.

18+6 _ (D18 (D 6 (D (=)

15-8 (0015 =D 8 (="  3.428571429

42x(-5)+120= 42 EFH5F)120=) -90.
{'{5 @) Erl

® & @ @

T 8 ¥ ®

(5X10")+(4X10")= s5(Er)3(=Ja(Exe]

I 1250000.
34+57= 34 (1) 57 =)° 91.
45+57= 45 =) 102.
68x25= 68 (XJ 25=" 1700.
68x40= 40=) 2720.

Uzatvaracia zatvorka ) tesne pred = alebo M+ sa mo6Zze vynechat.
Pridavok sa stava konstantou. Odcitanie a delenie sa vykonava rovnakym spdsobom.
Nasobok sa stava konstantou.

Pri vypoctoch s pouzitim konstant sa konStanty zobrazia ako K.
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Funkcie

Pred zacatim vypoctov zadajte uhlovu jednotku.

sin60["]= @NE) Gin) 80 (=) 0.866025403
cgsj:_[rad]: [(ORG] (cos J L (T Jm J = 14

= 0.707106781
tan"q=[9] (ORE) (ZndF) (fan] 1 =) 50.

Vysledky inverznych trigonometrickych funkcii sa zobrazuju v nasledujucom rozsahu:

B =sin"X, a=tan'X 8= cos' e
DEG -90=8=<90 O<zes 180
RAD -Fzes% Osesm
GRAD -100=8=< 100 O=e=< 200

61



cosh 1.5+ (enig) (O (Fve) (eos) 1.5 (=) (e
sinh 1.5)°= Go1s(EDE) 20.08553692
—- (2ndF) (archyp) (tan) (T 5
! (=) 0.895879734
In20 = (In) 20 (=) 2.995732274
log 50 = (Tog) 50 (=) 1.698970004
o'= GndF) (&) 3 (=) 20.08553692
10'= @ndF) (15) 1.7 (=) 50.11872336
S 6 (2ndF) [(x ) [+ )7 (2ndF]
B T "
(x) (=) 0.309523809
g3y 5= By J(=-)2[=Jal¥y")
) s (=) -2024.984375
(12 3= 124
! COE) (=D 6.447419591
JAG = /87 = ()49 (=) 4 @ndd) (57
8= 4,
41 = 4 @ndf) CnD) (=1 24.
wPsi= 10 @af) (P 3 (=) 720.
WCas= E2ndF (aC ) 2( = ) 10.
500x25% = 500 (%) 25 @naf) (%) 125.
120+400=7% 120 (=) 400 EndF) () 30.
500+(500x25%)= 500 (=) 25 Enaf) (%) 625.
400-(400x30%)= 400 (=) 30 @ndF) (%) 280.
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Nahodné cCisla

Pseudonahodné cislo s tromi vyznamnymi ¢islicami mozno vygenerovat stlacenim
tlacidla2nE) (=] . Ak chcete vygenerovat dalie ndhodné ¢islo, stlacte = . Tuto
funkciu mézete vykonavat v normalnom rezime a v rezime Statistiky.

Nahodné Cisla pouZzivaju pamat Y. Kazdé nahodné Cislo sa generuje na zaklade hodnoty
uloZzenej v pamati Y (pseudonahodny Ciselny rad).

Prevody uhlovych jednotiek

90°  [rad)] (ONIE) 90 (2ndF) (DEGH) 1.570796327
- [g] 100.
- [°] 90.
sin” 0.8=["] (2ndfF) (8in") 0.8 (=) 53.13010235
- [rad] 0.927295218
- [9] 59.03344706
=[] DEG K 53.13010235
Vypocty pamate

Tato kalkulacka ma 6 docasnych pamati (A-D, X a Y), jednu nezavisli pamat (M) a jednu
pamat na poslednu odpoved. Nezavisla pamat a doasné pamate su k dispozicii len v
normalnom rezime.

[Docasné pamate (A-D, X a Y)]

UloZenu hodnotu mozno vyvolat ako hodnotu alebo premennu na pouzitie v rovniciach.
V pripade, Ze do pamate uloZite nekonecné desatinné cislo, vyvolate ho ako premennd,
aby ste ziskali presné odpovede.

Priklad:

10+ ) 3(8TO0) LY ) (0.3333........ je uloZeny do
J(x JRCL (Y I =) 0.999999999
3 () EndB Arewd) (Y J (=) 1.
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Nezavisla pamat (M)]

Okrem vSetkych funkcii do€asnych pamati mozno k existujucej hodnote pamate pridat
alebo od nej odobrat hodnotu.

Pamat poslednej odpovede (ANS)]

Vysledok vypoctu ziskany stlacenim = alebo iného prikazu na ukoncenie vypoctu sa
automaticky uloZi do pamate poslednej odpovede.

Poznamka:

Vysledky vypoctov z nizSie uvedenych funkcii sa automaticky ukladaju do pamati X alebo
Y. Z tohto dévodu budte pri pouzivani tychto funkcii opatrni pri pouzivani pamati X a Y.

Nahodné disla................. Pamat'Y
D 10,2 XYerereeieiireeieseeiee Pamat X, pamat Y

Docasné pamate a pamat poslednej odpovede sa vymazu aj po opatovnom zvoleni
rovnakého rezimu.

[ON/Cl e[ x )2 (STO)( M ) 16.
24 +(Bx2)= 24+ J(ReLJC M I =) 1.5
(Bx2)x5= (RCL) [ M ) = ]85 =] &80.

[ON/C) [BTO] [ M ] 0.
$150x3:M1 150 %) 3 450.
+)$250:M2=M1+250 250 250.
-Mzx5%:Discount  [RCL][ M J [ x J5([2ndF)[_% ) 35,
Total=M (ZndF] [ M- J[RCL][ M ) 665.
$1=%140 140 (5TO) (v _) 140.
%33, 775=%7 33775 [+ J(REL) [ ¥ ) =1 241.25
$2.750=% 7 2750 x J(RCL)C ¥ J( =1 385000.
r=3em 3 3.
mri=? [ m ] [2ndF) (aALrHaA)”
(r—Y) (¥ J(x*) (=1 28.27433388

a0 Je (=81
24 _ = 2.4
avg 24 (A) 3 (%) (ZodF) (ARS) (=) 60 ()
3x(A)+60+(A)= (2ndF) (ANS) (=) 32.2

* Vynechava sa zapis postupu nasobenia medzi " " a premennou.
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Vypocty retazca

Tato kalkulacka umoznuje pouzit vysledok predchadzajuceho vypoctu v nasledujucom
vypocte.

6+4=ANS (onc)e (_+ Ja(_= ) 10.
ANS+5 5= 15.
44+37=ANS 44 ar(C=) 81.
JANS =) 9.

Po zadani viacerych pokynov sa predchadzajuci vysledok vypoctu nevyvola.

Vypocty zlomkov

e Desatinné ¢islo, premennu alebo exponent nemozno zadat ako zlomok.

e Vo vSetkych pripadoch je mozné zadat celkovo az 10 Cislic vratane celého Cisla,
Citatela, menovatela a symbolu (7).

e Ak je pocet dislic, ktoré sa maju zobrazit, vacsi ako 10, Cislo sa prevedie a zobrazi
ako desatinné ¢islo.

31+£—[aE] (ONJ/C) 3 (abic ) 1(abic) 2 + )

2 3 4 (able)3 (=) 4r5r6*
—[a.xxx] 4.833333333
—[d/c] 296
1D_§= (2ndF ] (107 ] 2 [abic] 3

=3 4.641588834
1.25+2=[a.xxx] 1.25 (& )2 (b)) s (=) 1.65
~[a7] 113120

4r5r6t=4g
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Vypocty €asu, desatinnych a Sestnastinnych cisel

Je mozné vykonat konverziu medzi desatinnymi a Sestnastinnymi cislami. Okrem toho
mozZno pomocou Sestnastkovej sustavy vykonavat Styri zakladné aritmetické operacie a
pamatové vypocty.

12°39'18"05 (ON/C) 12 [D'M'S) 38 ['MS) 18 [D'M'S) 5
—-[10] 12.65501389
123.678 123 678 123°40'40.80
—[60]
3h30m45s+ 3 [O°'MS)30 OMS) 45 ( + )6 ([OMS)
6h45m36s=[60] 4sO°'mg36 [ = ) 10°16°21.00
3h45m - 3pMs) 45 = ) 169 (= )
1.69h=[60] 203'36.00
sin62°12'24"=[10] (sin )62 'MS) 12 [Dm's) 24

= 0.884635235

Prevody suradnic

Pred vykonanim vypoctu vyberte uhlovu jednotku.

b Y
o _Pluy) P(r.)®
1 r
. >
'D"-\_.___x __,_,.-'-I ;_:l: .D _:{
ObdIZnikova stradnica Polarna suradnica

Vysledok vypoctu sa automaticky ulozi do pamati Xa'Y.
Hodnota r alebo x: X pamat

Hodnota 6 alebo y: Y pamat
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[on/ie) s (2ndF) [ 0 ) 4
[x =6 {r = =Dld 7.211102551
Y =4 #=["] [e] 33.69006753
[r] 7.211102551

14 ()3
[r =14 _}[x [x] 11.32623792
e=36[] |\Y¥= (==)[r] 8.228993532
[x] 11.32623792

Upravit funkciu

V tejto kalkulacke sa vSetky vysledky vypoctov interne ziskavaju vo vedeckej notacii s az
12 Cislicami pre mantisu. KedZe sa v3ak vysledky vypoctov zobrazuju vo forme urcenej
notaciou na displeji a uvedenym poctom desatinnych miest, interny vysledok vypoctu sa
moze liSit od vysledku zobrazeného na displeji. Pomocou funkcie modify sa interna
hodnota prevedie tak, aby zodpovedala hodnote na displeji, takZze zobrazend hodnotu
mozno pouzit bez zmeny pri dalSich operaciach.

5+9=ANS [ONIT) (2ndF) (FSE) (2ndF) (TAB) 1

ANSx9= 5(=)9(=) 0.6

[FIX,TAB=1] 9(=)" 5.0
5= 9 (=) (znar) (MDF) 0.6
9 (=" 5.4
(2ndF) (FSE ) [2ndF) [FSE ) [2ndF) [FSE)

*1 5.55555555555x10 'x9
*2 0.6x9
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Statistické vypo¢cty

[2ndF) (MoDE) [ 4

Stlacenim tlacidla ) vyberte rezim statiky s jednou premennou

(2ndF) (o0g] (L2 ) 3 rezim Statistiky s dvoma premennymi. Pre kazdy Statisticky vypocet
je mozné ziskat nasledujuce Statistické udaje (pozri tabulku nizSie):

Statisticky vypocet s jednou premennou: Statistika 1 Linearny regresny vypocet:
Statistika 1 a 2 a navy3e odhad y pre dané x (odhad y') a odhad x pre dané y (odhad x')

I Priemer vzoriek (Udaje x)
SX Smerodajna odchylka vzorky (Udaje x)
1 oX Smerodajna odchylka populacie (Udaje x)
n Pocet vzoriek
X Sucet vzoriek (Udaje x)
X2 Sucet Stvorcov vzoriek (Udaje x)
y Priemery vzoriek (Udaje y)
sy Smerodajna odchylka vzorky (Udaje y)
oy Smerodajna odchylka populacie (Udaje y)
2y Sucet vzoriek (Udaje y)
2 Ty? Sucet Stvorcov vzoriek (Udaje y)
Xy Sucet sucinov vzoriek (x, y)

Korelacny koeficient

Koeficient regresnej rovnice

ol T

Koeficient regresnej rovnice

Zadané udaje sa uchovavaju v pamati, kym nestlacite 2ndF CA alebo 2ndF MODE 1 (2).
Pred zadanim novych Udajov vymaZzte obsah pamate.

[Zadavanie udajov]
Udaje s jednou premennou

Udaje

Frekvencia L’Jdajov[ ) (na zadanie nasobkov rovnakych udajov)
Udaje s dvoma premennymi

Udaje x @D Udaje y

Udaje x &+ Udaje y— frekvencia@™ (zadavanie nasobkov rovnakych
udajov x ay.)
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[Oprava udajov]
Oprava pred stlacenim &™) .
Odstranenie nespravnych udajov pomocou ON/C:

Oprava po stlaceni @™ .

Stlagenim tlagidla (2 potvrdte posledny zaznam a stlacenim tlacidla 2F CD ho
vymazte.

Statistické vypocty s jednou premennou

— Score
g5 (ZndF) (wooE) 1 ) 0
80 95 1
80 80 2
75 3
75 75 (3 6
75 50 7
50
= 75.71428571
= (%) 12.37179148
Ix= (x) 530.
Ixi= 3x2) 41200.
sx = 13.3630621
sx = (x50 (=) 178.5714286
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Regresné vypocty

Vzhladom na vyberové Gdaje dvoch premennych (x, y) urcte Standardnu odchylku
suborov udajov x ay; koeficienty rovnice linearnej regresie a korelacny koeficient medzi
xay.

% _}" (2ndF) [mooe) [ 2 ) 0.

2 5 2([&")5 1.

2 5 2.

12 | 24 12 24 3.
21 | 40 21 @) 40 () 3 o) 6.
21 | 40 15 25 7.
21 | 40 1.050261097
15 | 25 (b 1.826044386
) 0.995176343

8.541216597

&Y 15.67223812

Odhaduiju sa tieto hodnoty:

Xx=3—y's7 3 ¥y 6.528394256
Yy =46 — x'=? 48 (x) 24.61590706

Vzorce pre Statistické vypocty

x =2 ox = [X=nX*
n

—
8x = IXing I=x1+x2+---+xn

Ix=xf+x2*+..-+xn?
2
¥="n Oy = 20y

g,3,|-=||'21l"1""5"'2 Ixy=xiyi+x2y2+...+xnyn
n-1
Iy=yi1+y2+...¥yn
Zyizy f4y2i+---+yn?
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(n: pocet vzoriek)
Vo vzorcoch Statistického vypoctu sa vyskytne chyba, ked:

e absolutna hodnota medzivysledku alebo vysledku vypoctu je rovna alebo vacsia
ako 1x10'%°,

e menovatel je nula.

e sa pokusi o druht odmocninu alebo zaporné Cislo.

Chyby a rozsahy vypoctov

1. Chyby

Chyba nastane, ak operacia prekroci vypoctové rozsahy alebo ak sa pokusite o
matematicky nezakonnu operaciu. Ak sa vyskytne chyba, stlacenim tlacidla O (alebo
C® ) sa kurzor automaticky presunie spat na miesto v rovnici, kde sa vyskytla chyba.
Upravte rovnicu (pozri stranu 5) alebo stlacte ON/C, aby ste rovnicu vymazali.

2. Chybové kédy a typy chyb

Chyba syntaxe (chyba 1):

e Bol vykonany pokus o vykonanie neplatnej operacieEx.

, @) GrY)

Chyba vypoctu (Chyba 2):

e Absolutna hodnota priebezného alebo kone¢ného vysledku vypoctu sa rovna
alebo je vy33ia ako 10",

e Bol vykonany pokus o delenie ¢islom O.

e Privykonavani vypoctov boli prekrocené vypoctové rozsahy.

Chyba hibky (Chyba 3)

e Dostupny pocet vyrovnavacich pamati bol prekroceny. (K dispozicii je 8
vyrovnavacich pamati* pre Ciselné hodnoty a 16 vyrovnavacich pamati pre
vypoctové instrukcie). *4 vyrovnavacie pamate v rezime STAT.
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PriliS dlha rovnica (chyba 4):

e Rovnica prekrocila maximalnu vstupnu vyrovnavaciu pamat (142 znakov). Rovnica
musi byt kratSia ako 142 znakov.

3. Rozsahy vypoctu

V ramci nizSie uvedenych rozsahov je tato kalkulacka presna na +1 v najmenej
vyznamnej Cislici mantisy. Pri vykonavani spojitych vypoctov (vratane retazovych
vypoctov) sa chyby kumuluju, ¢o vedie k zniZzeniu presnosti.

Rozsahy vypoctu
+10 ~ 9,999999999x10% a 0.

Ak je absolutna hodnota polozky alebo konecného ¢i medzivysledku vypocCtu mensia ako
10, hodnota sa vo vypoctoch a na displeji povaZzuje za 0.

Funkcia Dynamicky rozsah
sin X, cos X, tan x DEG: Ix|<10"
(tanx :|x |=80(2n-1))"
RAD: Ix | <55 x10"
(tanx :x =5 (2n-1))"
GRAD: x| <2 x10™

(tanx:|x|=100(2n-1))*
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Funkcia Dynamicky rozsah
sin'x , cos™ x| <1
tamk, yx x|<10™
Ine, loge 10"<x <10
¥ >0: -10"< x log ¥ <100
s ¥ =0: O<x <10"
y* o ¥ <0:
o X =n(0<|x | <1:5-=2n-1,x =0)*
-10%x log|y| <100
.Y >0: -10"< £ logy <100(x =0)
« ¥ =0: 0<x <10”
fy” o ¥ <) x =2n-1
(0<|x|<15=n:x 20)*
-10"<¢ log ¥ <100
e* -10™<x<230.2585092
10* -10"<x <100
sinhx,coshx, Ix |<230.2585092
tanhx
sinh'x x |<10™
cosh”x 1<x<10”
tanh”X % |<1
x? |x |<10*
% 0<x <10™
X X |<10™(x =0)
n! 0<n<69*
0<r<n<9999999999*
nPr n! ™
[I'ITF:I!{'ID

*(n, r: celé ¢islo)
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Vymena batérie
Poznamky k vymene batérie

Nespravna manipulacia s batériami moze spdsobit unik elektrolytu alebo vybuch. Dbajte
na dodrziavanie nasledujucich pravidiel manipulacie:

e Vymente obe batérie sucasne.

¢ NemiesSajte nové a staré batérie.

o Uistite sa, Ze noveé batérie su spravneho typu.

e Priinstalacii orientujte kazdu batériu spravne podla pokynov v kalkulacke.

e Batérie su inStalované z vyroby pred odoslanim a mbzu byt vyCerpané skor, ako
dosiahnu Zivotnost uvedenu v Specifikaciach.

Kedy vymenit batérie

Ak ma displej slaby kontrast, je potrebné vymenit batérie.

Upozornenie
e Batérie uchovavajte mimo dosahu deti.
e Vybité batérie ponechané v kalkulacke mo6zu vytekat a poskodit kalkulacku.
¢ Riziko vybuchu méze byt spésobené nespravnou manipulaciou.
e Batérie sa smu vymienat len za iné rovnakého typu.
e Batérie nevhadzujte do ohna, pretoze mézu vybuchnut.

Postup vymeny

1. Vypnite napajanie stlacenim tlacidla 2ndF OFF.
2. Zatvorte ochranny kryt a odstrante dve skrutky.

Potom telo mierne posunte v smere Sipky. (Obr. 1)
3. Mierne posunte kryt batérie a zdvihnutim ho vyberte.
4.NainStalujte dve nové batérie.
5. Vymernite zadny kryt a skrutky.
6.StlaCte spina€ RESET (na zadnej strane).

Uistite sa, Ze sa na displeji zobrazi nasledujuci obrazok. Ak sa displej nezobrazi tak, ako
je znazornené na obrazku, vyberte batérie, znovu ich vloZte a eSte raz skontrolujte
zobrazenie.

y
U'_n
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Funkcia automatického vypnutia

Tato kalkulacka sa sama vypne, aby Setrila energiu batérie, ak priblizne 10 minut
nestlacite Ziadne tlacidlo.

Zarucné podmienky

Na novy vyrobok zakupeny v predajne;j sieti Alza.sk sa vztahuje zaruka 2 roky. V pripade
potreby opravy alebo iného servisu v zaru¢nej dobe sa obratte priamo na predajcu
vyrobku, je nutné predlozit originalny doklad o kipe s datumom nakupu.

Za rozpor so zaruénymi podmienkami, pre ktory nemozno reklamaciu uznat, sa
povaZuju nasledujice skutocnosti:

Pouzivanie vyrobku na iny ucel, nez na ktory je vyrobok urceny alebo
nedodrziavanie pokynov pre udrzbu, prevadzku a servis vyrobku.

PoSkodenie vyrobku zZivelnou pohromou, zasahom neopravnenej osoby alebo
mechanicky vinou kupujuceho (napr. pri preprave, Cisteni nevhodnymi
prostriedkami a pod.).

Prirodzené opotrebovanie a starnutie spotrebného materialu alebo sucasti pocas
pouZzivania (napr. batérii atd.).

P&sobenie nepriaznivych vonkajsich vplyvov, ako je sinecné Ziarenie a iné Ziarenie
alebo elektromagnetické pole, vniknutie kvapaliny, vniknutie predmetu, prepatie
v sieti, elektrostaticky vyboj (vratane blesku), chybné napajacie alebo vstupné
napatie a nevhodna polarita tohto napatia, chemické procesy, napr. pouzité
zdroje atd.

Ak niekto vykonal upravy, modifikacie, zmeny konstrukcie alebo adaptacie za
ucelom zmeny alebo rozSirenia funkcii vyrobku oproti zaktpenej konStrukcii
alebo poutZitie neoriginalnych sucasti.
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EU prehlasenie o zhode

Tento vyrobok spifa poZiadavky EU podla smernic 2014/30/EU (EMC) a 2011/65/EU
vratane zmien 2015/863/EU (RoHS).

C¢€

WEEE

Tento vyrobok nesmie byt likvidovany ako bezny domovy odpad v sulade so smernicou
EU o odpadovych elektrickych a elektronickych zariadeniach (WEEE - 2012/19/EU).
Namiesto toho musi byt vrateny na miesto nakupu alebo odovzdany na verejné zberné
miesto recyklovatelného odpadu. Tym, Ze zaistite spravnu likvidaciu tohto vyrobku,
pomo&zete predist moznym negativnym ddsledkom pre Zivotné prostredie a ludské
zdravie, ktoré by inak mohli byt sp6sobené nevhodnym nakladanim s odpadom z tohto
vyrobku. Dal3ie informécie ziskate na miestnom Grade alebo na najblizSom zbernom
mieste. Nespravna likvidacia tohto typu odpadu méze mat za nasledok pokuty v sulade s
vnutrostatnymi predpismi.
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Kedves vasarlé,

K&szonjuk, hogy megvasarolta termékunket. Kérjuk, hogy az elsd hasznalat eldtt
figyelmesen olvassa el az alabbi utasitasokat, és 6rizze meg ezt a hasznalati Utmutatot a
kés6bbi hasznalatra. Forditson kulonds figyelmet a biztonsagi utasitasokra. Ha
barmilyen kérdése vagy észrevétele van a készulékkel kapcsolatban, kérjuk, forduljon az
ugyfélszolgalathoz.

= www.alza.hu/kapcsolat
© +36-1-701-1111
Importér Alza.cz a.s., Jankovcova 1522/53, HoleSovice, 170 00 Praha 7, www.alza.cz
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Bevezetés

Miutan elolvasta ezt a kézikdnyvet, tarolja azt egy megfelel6 helyen a késébbi
hasznalatra.

Megjegyzés: El6fordulhat, hogy a jelen kézikdnyvben leirt modellek némelyike nem all
rendelkezésre egyes orszagokban.

Mikodési megjegyzések

A zavartalan miUkodés érdekében kérjuk, vegye figyelembe a kdvetkezd pontokat:
1. Ne hordja a szamologépet a nadrag hatsé zsebében.

2. Ne tegye ki a szamologépet szélséséges hémérsékletnek.

3. Ne ejtse le, és ne alkalmazzon tulzott erét.

4. Csak puha, szaraz ruhaval tisztitsa.

5. Ne hasznalja vagy tarolja a szamoldgépet olyan helyen, ahol folyadékok
froccsenhetnek ra.

Csak a kovetkez6 esetekben nyomja meg a RESET kapcsolot:

Els6é hasznalat esetén

Az elemek cseréje utan

Az §sszes memoriatartalom torlése utan

Ha rendellenes allapot Iép fel, és az 6sszes billentyl nem makodik

Ha a szamologép szervizelésére van szikseg, csak SHARP szervizkereskedét, SHARP altal
jévahagyott szervizt vagy SHARP javitdszervizt vehet igénybe, ahol foglalkoznak
szamologépekkel.
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A védoburkolat

A szamolégéphez tartozik egy fedél, amely védi a billenty(izetet és a kijelz6t, amikor a
szamologép nincs hasznalatban.

1.Nyomja meg a szamoldgép hatsé végét, majd csusztassa a masik végére.

2.Forgassa el a szamol6gépet, hogy beférjen a fedélbe.

e Mindig zarja be a fedelet, ha nem hasznalja a szamoldgépet. (A bezarashoz
kovesse a nyitasi eljarast forditva).

Ha a fedél levalt a f6egységrél, az alabbi [épésekkel rogzitse vissza.
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Megjelenités

Egyenlet 5z s mE @+ a
megjelenitése

= 2ndF  HYPALPHA FIXSCIENG DEGRAD ERFND 4+— Szimbdolum

M =
o
16

- 1234357830

Mantissza Exponens

(A tényleges hasznalat soran nem az dsszes szimbdlum egyszerre jelenik meg.)

Ha a mantissza értéke nem fér bele a + 0,000000001 - + 999999999999
tartomanyba, a kijelz6 tudomanyos jeldlésre valt. A kijelzési mdd a szamitas céljanak
megfelel8en valtoztathatd.

-—f—-

Akkor jelenik meg, ha a teljes egyenlet nem jelenithet6 meg.

Nyomja meg a (O] gombot a fennmarado (rejtett) rész
megjelenitéséhez.

2ndF

Megjelenik a 2ndF megnyomasakor, jelzi, hogy a sargaval jeldlt
funkcidk engedélyezve vannak.

HYP

Jelzi, hogy a HYP gombot megnyomta, és a hiperbolikus fliggvények
engedélyezve vannak. Ha a 2ndF hiperbolikus fuggvényt
megnyomta, a "2ndF HYP" szimbdlumok jelzik, hogy az inverz
hiperbolikus fuggvények engedélyezve vannak.

Alpha

Jelzi, hogy a 2ndF APLHA vagy az STO (RCL) gombot megnyomtak,
és a memoria tartalmanak bevitele (visszahivasa) és a statisztikak
visszahivasa elvégezhetd.

FIX/SCI/ENG

Az érték megjelenitéséhez hasznalt jellést jelzi, és a 2ndF FSE
minden egyes megnyomasakor valtozik.

DEG/RAD/GRAD

Szogegységeket jelez, és minden egyes DRG megnyomasakor
valtozik.

STAT

Megjelenik, ha a statisztika Gzemmad van kivalasztva.

M

Jelzi, hogy egy szamérték van tarolva a fuggetlen memdriaban.
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A szamolégép hasznalata el6tt
Ebben a kézikényvben hasznalt kulcsjeldlés

: Az e’
megadasahoz:
X Az In (In )
megadasahoz:
X megadasa: (2ndF) (AeEA) [ X )

A billenty( folott sargaval nyomtatott funkcidkhoz a billentyl elétt el6szor a 2ndF

billenty(lt kell megnyomni. A szamok nem billenty(ként, hanem kézonséges szamokként
jelennek meg.

Be- és kikapcsolas

Nyomja meg a on/c gombot a szamoldgép bekapcsolasahoz, és a 2ndF OFF gombot a
kikapcsolashoz.

Elszamolasi modszerek
Haromféle elszamolasi mddszer létezik:

Térlési miivelet Bejegyzés (kijelz6) M™ A-D, X, Y"2 STAT, ANS
ON/C O X X
2ndF O X O
Reset O O O
O : Tiszta

X: Megtartani

1. Fuggetlen memoéria M.

*2 ideiglenes memoriak A-D, X és statisztikai adatok, valamint az utolsé valasz meméria.
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Az egyenlet szerkesztése

e Nyomja meg ED vagy al®) gombot a kurzor mozgatasahoz . A valasz

megadasa utan a0 (@ ) megnyomasaval is visszatérhet az egyenlethez.A
tobbsoros lejatszasi funkciot 1asd alabb.

e Ha tordlni szeretne egy szamot, vigye a kurzort a tordlni kivant szamra, majd
nyomja meg a . A kurzor alatti szam torl6dik.

e Ha szamot kell beillesztenie, vigye a kurzort arra a helyre kozvetlenul a
beilleszteni kivant szam utan, majd irja be a szamot.

Tobbsoros lejatszasi funkcié

Ez a szamol6gép rendelkezik egy olyan funkcioval, amellyel a korabbi egyenletek
felidézhetdk. Az egyenletek olyan szamitast befejezd utasitasokat is tartalmaznak, mint
az "=", és a memodriaban legfeljebb 142 karakter tarolhat6. Ha a memoria megtelt, a
tarolt egyenletek a legrégebbi sorrendben torlddnek. ACAJ megnyoméasaval
megjelenik az el8z6 egyenlet és a valasz. A CAJ tovabbi megnyomasaval az el6z6

egyenletek jelennek meg (az el8z6 egyenlethez vald visszatérés utan nyomja meg a GA

gombot az egyenletek sorrendben torténé megtekintéséhez). Tovabba, CaJ 4
legrégebbi egyenlethez val6 ugrashoz hasznalhaté.

@ 3(5+2) ONQ 3(()5()200)(=) 2
@ 3x5+2 3(x)5(*)2(=) 17.
® 3x5 + 3x2 3(x)5(+)3(x)J)2( =) 2.
0 Egyenlet @ (&) 21,
0 Egyenlet @ v 17.
0 Egyenlet @ a3 21,

0 Egyenlet @ (A) 17.

A tobbsoros memoria a kovetkezé miiveletekkel t('jrl(jdik:[z"d':] (cA), (znaF) (OFF)

(beleértve az automatikus kikapcsolasi funkciét),izemmaddvaltas ,RESET, ,
, konstansszamitas, szogkonverzidé/valtozas, koordinatakonverzié,

szamértékek tarolasa az ideiglenes memariakba és a fuggetlen memdriaba, valamint
statisztikai adatok bevitele/torlése.
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Prioritasi szintek a szamitasban

Ez a szamoldgép a kdvetkezd prioritas szerint hajtja végre a mlveleteket:
@ Fuggvények, amelyek el6tt szerepel az argumentumuk (x, x? nl, stb.)

I@)YX v @ Egy memoriaérték implikalt szorzata (2Ystb.)® Funkcidk, amelyeket az
argumentumuk kovet (sin, cos, ; stb.)® Egy fuggvény implikalt szorzata (2sin30 stb.)
® nCr, nPr, @ x,+ +, - @=, M+, M-, =M, p DEG,

pRAD,p GRAD,DATA,CD,— 16,

utasitas

_}
Xy és egyéb szamitasi befejezd

Ha zardjeleket hasznal, a zaréjeles szamitasok els6bbséget élveznek minden mas
szamitassal szemben.

Kezdeti beallitas
Maod kivalasztasa

Normal izemméd: o)

Aritmetikai mUveletek és fuggvényszamitasok elvegzésére szolgal.

Egyvaltozos statisztikai izemméd: (2n9F) (MODE) (1 )

1-valtozos statisztikai szamitasok elvégzésére szolgal.

Kétvaltozés statisztikai méd: (2ndF) (MODE) (2 |

2 valtozos statisztikai szamitasok elvégzésére szolgal.

Az Gzemmad kivalasztasakor az ideiglenes memoriak, a statisztikai adatok és az utolsé
valasz memdria torl6dnek, még akkor is, ha ugyanazt az izemmdédot valasztja Ujra.
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A kijelzés jelolésének és a tizedesjegyeknek a kivalasztasa

A szamoldgép négyféle jeldlési rendszerrel rendelkezik a szamitasi eredmények
megjelenitéséhez. Amikor a FIX, SCl vagy ENG szimbolum jelenik meg, a tizedesjegyek
szama 0 és 9 kozotti értékre allithatd. A megjelenitett értékek a megfelel
szamjegyszamra csokkennek.

100 009,+3= [O@NIT) 100000 (= )3 (=) 33333.33333
:;;i(bteig:dpec;:te]sszfi] #9393 33333
[TAB 2-re allitval (TAB) 2 33333.33
[Tudomanyos jelélés] (@ndP) (FSE) 3-333:13:
[Mérnéki jelélés] FED 33.33x1
(2ndF) (FSE) 33333.33333

[Lebeg6 pont]

Ha a lebeg6pontos rendszerben megadott érték nem illeszkedik a kdvetkezd
tartomanyba, a szamoldgép az eredményt tudomanyos jeldlési rendszerben jeleniti
meg:

0.000000001 < |x]| <9999999999

A szogegység meghatarozasa

Ebben a szamolégépben a kdvetkezé harom szogegység adhaté meg.

» DEG(")

/ Press(DRG
'

DRAD(g) RAD (Radians)

7
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Tudomanyos szamitasok

Nyomja meg a2f) (o0g) (L2 ) gombot a normal izemmaéd kivalasztasahoz.

Minden példaban nyomja meg a@¥S gombot a kijelz& torléséhez.

Ha a FIX, SCl vagy ENG kijelzd jelenik meg, torolje a kijelz6t Ple=n) gomb
megnyomasaval.

Aritmetikai miveletek / konstans szamitasok

45+285+3= (oN/C) 45 285(=)3(=D 140.

18+6 _ (iO)18 6 (10 =)

15-8 (0015 (=0 8 (="  3.428571429

42x(-5)+120= 420C0FLs5F)120=) -90.
G{S @] Er

® B @ @

"= & = B

(5X10°)+(4X10%)=  s5(Exe)3(=Ja(Exe]

FD3(=) 1250000.
34+57= 34 (2 57 =" 91.
45+57= 45 =) 102.
68x25= 68 X)) 25(=)" 1700.
68x40= 40=D 2720.

A zar6 zardjel ) kozvetlenul az = vagy az M+ el6tt elhagyhatd.
Az 6sszeadas allandova valik. A kivonas és az osztas ugyanigy torténik.
A szorzétényez6 konstanssa valik.

Ha a szamitasokat konstansokkal végzi, a konstansok K-ként jelennek meg.
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Fuggvények

A szamitasok megkezdése el6tt adja meg a szogegységet.

sinB0[*]= ©oNe) Gn) e (=) 0.866025403
CDS%[I"Ed]: (DRG] (cos ) T J[m J = 14
)= 0.7071067 81
tan'1=[9] (DRG] (ZndF) (tan™) 1 =) 50.
DRG

Az inverz trigonometrikus fuggvények eredményei a kdvetkezd tartomanyban jelennek
meg:

0 =sinX, a=tan'Xx a=cos':
DEG -90<08<90 O<e< 180
RAD -Fzes% Osesm
GRAD -100=98=<100 O=e< 200
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cosh 1.5+ (enig) (O (Fve) (eos) 1.5 (=) (e
sinh 1.5)°= Go1s(EDE) 20.08553692
—- (2ndF) (archyp) (tan) (T 5
! (=) 0.895879734
In20 = (In) 20 (=) 2.995732274
log 50 = (Tog) 50 (=) 1.698970004
o'= GndF) (&) 3 (=) 20.08553692
10'= @ndF) (15) 1.7 (=) 50.11872336
S 6 (2ndF) [(x ) [+ )7 (2ndF]
B T "
(x) (=) 0.309523809
g3y 5= By J(=-)2[=Jal¥y")
) s (=) -2024.984375
(12 3= 124
! COE) (=D 6.447419591
JAG = /87 = ()49 (=) 4 @ndd) (57
8= 4,
41 = 4 @ndf) CnD) (=1 24.
wPsi= 10 @af) (P 3 (=) 720.
WCas= E2ndF (aC ) 2( = ) 10.
500x25% = 500 (%) 25 @naf) (%) 125.
120+400=7% 120 (=) 400 EndF) () 30.
500+(500x25%)= 500 (=) 25 Enaf) (%) 625.
400-(400x30%)= 400 (=) 30 @ndF) (%) 280.
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Véletlen szamok

Egy harom szignifikans szamjegy(i pszeudo-véletlen szam generalhat6 andF) =)
megnyomasaval. A kdvetkezd véletlen szam generaldsahoz nyomja meg a = gombot . Ezt
a funkciét normal és statisztikai Gzemmaodban is elvégezheti.

A véletlen szamok az Y memoriat hasznaljak. Minden véletlen szam az Y memoriaban
tarolt érték alapjan jon létre (pszeudo-véletlen szamsorozat).

Sz6g egység-atvaltasok

90° - [rad] (GNIE) 90 (2ndF) (DEGH) 1.570796327
- [g] 100.
- [°] 90.
sin” 0.8=["] (zndf) (sin") 0.8 (=) 53.13010235
- [rad] 0.927295218
- [g] 59.03344706
= [°] DEGM 53.13010235

Memoria szamitasok

Ez a szamolbgép 6 ideiglenes memoriaval (A-D, X ésY), egy fuggetlen memariaval (M) és
egy utolsé valasz memoriaval rendelkezik. A figgetlen memoria és az ideiglenes
memoriak csak normal Gzemmaodban allnak rendelkezésre.

[Atmeneti memériak (A-D, X és Y)]

A tarolt értéket értékként vagy valtozoként lehet felidézni az egyenletekben valo
felhasznalashoz. Abban az esetben, ha végtelen tizedesjegyet tarol a memariaban, hivja
vissza valtozoként, hogy pontos valaszokat kapjon.

Példa:

1 (=) 3610 LY ) (0.3333........ Is tarolt Y)
JLx JRCLJLLY J[=) 0.999999999
3 () @ndF) (aewd) CY J (=) 1.
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Fuggetlen meméria (M)]

Az ideiglenes memodriak dsszes jellemzbje mellett egy értéket hozza lehet adni egy
meglévé memoriaértékhez, vagy ki lehet vonni bel6le.

Utolsé valaszmemoria (ANS)]

Az = vagy barmely mas szamitast befejez6 utasitas megnyomasaval kapott szamitasi
eredmény automatikusan az utolsé valasz memoriaban tarolédik.

Megjegyzés:

Az alabb jelzett funkcidk szamitasi eredményei automatikusan az X vagy Y memaoridban
tarolodnak. Ezért e funkciok hasznalatakor tgyeljen az X és Y memoriak hasznalatara.

Véletlen szdmok................. Y membéria
0r0,0 XYueeverierenereenieninens X memoria, Y memoria

Az ideiglenes memoriak és az utolsé valasz memdria akkor is térlédnek, ha ugyanazt az
uzemmodot valasztja Ujra.

[oN/Cl e[ x )2 (STO)[ M ) 16.
24 +(8x2)= 24+ J(rReL)C M ][ =) 1.5
(Bx2)x5= (REL] [ M ][ = ]85 =] &80.

[ON/C) [BTO] [ M ] 0.
$150x3:M1 150 %3 450.
+)$250:M2=M1+250 250 250.
-IMzx5%:Discount  [RCL)( M J([_x ]5(2ndF) [ % ] 35,
Total=M (ZndF] [ M- J[RCL][ M ]} 665.
F1=%140 140 (5TO) (v _) 140.
%33,775=%7 33775 [+ J(REL) [ ¥ ) =1 241.25
$2,750=x7 2rs0 = J[(RCL) (¥ )= 1 385000
r=3cm 3 3.
mri=7? (7 ] [2ndF) (ALrHaA)
(r—Y) (¥ J(x*) (=1 28.27433388

AR ER LI
24 _ = 2.4
avg 24 A) 3 (%) (zodF) (ANS) (= )60 (5)
3x(A)+60+(A)= (znaf) (BNS) (=) 32.2

* A szorzasi eljaras bejegyzése a " " és egy valtoz6 kozott elmarad.
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Lanc szamitasok

Ez a szamoldgép lehetévé teszi, hogy az el6z6 szamitasi eredményt a kdvetkezd
szamitasban felhasznalja.

B+4=ANS [OniE)e [+ Ja_= ] 10.
ANS+5 C+=s(C=0 15.
44+37T=ANS a4 (=37 (=]) 81.
JANS CICE) 9.

Az el6z6 szamitasi eredmény tobb utasitas megadasa utan nem hivhato vissza.

Tortszamitas

e Tizedes szam, valtozo6 vagy exponens nem adhaté meg tortként.

e Minden esetben dsszesen legfeljebb 10 szamjegyet lehet megadni, beleértve az
egesz szamot, a szamlalét, a nevez6t és a szimbolumot (7).

e Ha a megjelenitend6 szamjegyek szama nagyobb, mint 10, a szamot tizedes
szamma alakitja és tizedes szamként jeleniti meg.

3l+£—[aE] (ONIC) 3 (abic) 1 (abic) 2+ )

2 3 "¢ 4 (able)3 (=) 456"
—[a.xxx] 4.833333333
—[d/c] 296
m%_ (2ndF ) (10° ) 2 [ablc) 3

=) 4.641588834
1.25+ 2 =[a.xxx] 1.25 (5 )2 (@bic) s (=) 1.65
—la2] 113120

4564
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Id, tizedes- és hatvanyozasos szamitasok

A tizedes és hatvanyozott szamok kdzotti konverzio elvégezhetd. Ezenkivul a négy
alapvetd aritmetikai mivelet és a memoriaszamitasok a szexagezimalis rendszerben is
elvégezhet6k.

12°39'18"05 (ON/C) 12 [B'M'E) 30 [O°M'S) 18 [O°M'S) 5
—-[10] 12.65501389
123.678 123 678 123°40°40.80
—[60]
3h30m45s+ 3 [O°'M'S) 30 (OMS) 45 ( + )6 ([DM'S)
6h45m36s=[60] 4sO°msas [ = ) 10°16°21.00
3h45m - soms) 45 — ) 169 [ = )
1.69h=[60] 2°03'36.00
sin62°12'24"=[10] (sin )62 [o'™s) 12 [D'M's) 24

= 0.884635235

Koordinata-atvaltasok

A szamitas elvégzeése el6tt valassza ki a szogegységet.

b Y
Py P(r,) 0
I r
. >
'I:Im_.___x ___,_,..' X 0 x
Téglalap alaku koordinata Polaris koordinata

A szamitasi eredmény automatikusan tarolddik az X és Y memoriakban.
Az r vagy x értéke: X memoria

0 vagy y értéke: Y memoria
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[on/ie) s (2ndF) [ 0 ) 4
[x =6 {r = =Dld 7.211102551
Y =4 #=["] [e] 33.69006753
[r] 7.211102551

14 (- Jse
[x] 11.32623792
[v] 8.228993532

[x] 11.32623792

[r =14 _}[x
0=36["] ¥

Funkcié moédositasa

Ebben a szamolégépben minden szamitasi eredményt belsbleg tudomanyos jeldléssel
kapunk, legfeljebb 12 szamjegy( mantisszaval. Mivel azonban a szamitasi eredmények a
kijelz6n megjelenitett jelolés és a feltintetett tizedesjegyek szama altal meghatarozott
formaban jelennek meg, a belsd szamitasi eredmény eltérhet a kijelz86n megjelenitett
eredmeénytdl. A mdédosito funkcid hasznalataval a belsé értéket a kijelz6n megjelend
értéknek megfelel6en alakitja at, igy a megjelenitett érték valtoztatas nélkul hasznalhato

a kés6bbi mlveletek soran.

5+9=ANS (GNIC) (2ndF) (FSE) (2ndF) (TAR) 1

ANSx9= 5(=J)9(=) 0.6

[FIX,TAB=1] (x99 (=" 5.0
5= 9 (=) (zndr) (MoF) 0.6
xXJ9(=)" 5.4
(2ndF) (FSE ) [2ndF) [FSE) [2ndF) [FSE)

*1 5.55555555555x10"'x9
*2 0.6x9
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Statisztikai szamitasok

MoDE] [ 1

Nyomja meg a(2ndF) | ) gombot az egyvaltozds statikus tizemmaod

(2ndF) (o0g] (L2 ) g5 5 Kétvaltozos statikus lzemmod kivalasztasahoz. Az egyes
statisztikai szamitasokhoz a kovetkezd statisztikak kaphatok (lasd az alabbi tablazatot):
Egyvaltozos statisztikai szamitas: Statisztikak 1 Linearis regresszids szamitas: 1 és 2
statisztika, valamint ezen kivul az y becslése adott x-re (becslés y') és az x becslése adott
y-ra (becslés x').

X A mintak atlaga (x adat)
SX Minta sz6éras (x adat)
1 OX A populacié szérasa (x adat)
n A mintak szama
X A mintak 6sszege (x adat)
>x? A mintak négyzeteinek 6sszege (x adatok)
¥y A mintak atlagai (y adatok)
sy Minta széras (y adatok)
oy A populacio szérasa (y adatok)
zy A mintak 6sszege (y adatok)
2 y? A mintak négyzeteinek dsszege (y adatok)
Xy A mintak szorzatainak 6sszege (X, y)
r Korrelacios egyutthato
a A regresszios egyenlet egytitthatoja
b A regresszios egyenlet egyUtthatoja

A beirt adatok a memaoriaban maradnak, amig a 2ndF CA vagy a 2ndF MODE 1 (2)
gombot meg nem nyomja. Uj adatok bevitele elétt térélje a memoria tartalmat.

[Adatbevitel]
Egyvaltozés adatok
Adatok

Adatok gyakorisaga (Ugyanazon adatok tobbszérosének megadasa)
Kétvaltozos adatok

Adatok x (x2J Adatok y

Adatok x (1) Adatok y[ ) gyakoriség (Ugyanazon x és y adatok
tébbszérésének megadasa.)
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[Adatkorrekcid]

Javitas a megnyomasa elbtt:
Hibas adatok torlése ON/C-vel:

Helyesbités a megnyomasa utan:

Nyomja meg a(®J gombot a legutobbi bejegyzés megerGsitéséhez, és nyomja
meg a 2ndF CD gombot a torléshez.

Egyvaltozos statisztikai szamitasok

— Score —
a5 (2ndF) (wooe] 1 ) 0
80 95 1
80 80 2
75 3
75 753 6
75 50 7
50
= 75.71428571
oxX = (oX7) 12.37179148
Ix= (&) 530.
Ixi= x5 41200.
sx = 13.3630621
SX = (x) (=) 178.5714286
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Regresszids szamitasok

Adott kétvaltozds mintaadatok (x, y) esetén hatarozza meg az x és y adatsorok szérasat;
a linearis regresszids egyenlet egyltthatdit, valamint az x és y kdzotti korrelacios
egyutthatot.

% _}" (2ndF) [mooe) [ 2 ) 0.

2 5 2([&")5 1.

2 5 2.

12 | 24 12 24 3.
21 | 40 21 @) 40 () 3 o) 6.
21 | 40 15 25 7.
21 | 40 1.050261097
15 | 25 (b 1.826044386
) 0.995176343

8.541216597

&Y 15.67223812

A kovetkezd értékek becsult értékek:

Xx=3—y's7 3 ¥y 6.528394256
Yy =46 — x'=? 48 (x) 24.61590706

Statisztikai szamitasi képletek

x =2 ox = [X=nX*
n

—
8x = IXing I=x1+x2+---+xn

Ix=xf+x2*+..-+xn?
2
¥="n Oy = 20y

g,3,|-=||'21l"1""5"'2 Ixy=xiyi+x2y2+...+xnyn
n-1
Iy=yi1+y2+...¥yn
Zyizy f4y2i+---+yn?
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(n: a mintak szama)
A statisztikai szamitasi képletekben hiba 1ép fel, ha:

e akozbensd eredmény vagy szamitasi eredmény abszolut értéke egyenld vagy
nagyobb, mint 1x10'% .

e anevezd nulla.

e Kkisérletet tesziink a négyzetgydk vagy egy negativ szam kivonasara.

Hibak és szamitasi tartomanyok
1. Hibak

Hiba Iép fel, ha egy mUivelet tullépi a szamitasi tartomanyokat, vagy matematikailag
illegalis miveletet probal meg végrehajtani. Hiba esetén a O (vagy a )
megnyomasaval a kurzor automatikusan visszakerul az egyenlet azon helyére, ahol a
hiba tortént. Szerkessze az egyenletet (lasd az 5. oldalt), vagy nyomja meg az ON/C
gombot az egyenlet torléséhez.

2. Hibakédok és hibatipusok
Szintaxis hiba (1. hiba):

e Ervénytelen miiveletet probaltak végrehajtani

° EX.ZEE

Szamitasi hiba (2. hiba):

o AkOzbensd vagy végsd szamitasi eredmény abszolut értéke egyenld vagy
meghaladja a 10'® értéket.

e Megkisérelték a 0-val val6 osztast.

e A szamitasi tartomanyokat a szamitasok elvégzése soran tullépték.

Mélységi hiba (3. hiba)

e Arendelkezésre all6 pufferek szama tullépésre kerdlt. (A numerikus értékek
szamara 8 puffer*, a szamitasi utasitasok szamara pedig 16 puffer all
rendelkezésre). *4 puffer STAT Gzemmaddban.

Tal hosszu egyenlet (4. hiba):

e Az egyenlet tullépte a maximalis bemeneti puffert (142 karakter). Egy egyenletnek
142 karakternél rovidebbnek kell lennie.
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3. Szamitasi tartomanyok

Az alabb megadott tartomanyokon belll ez a szamoldgép +1 pontossagu a mantissza
legkisebb értékd szamjegyében. Folyamatos szamitasok (beleértve a lancszamitasokat is)
végzésekor a hibak felhalmozédnak, ami a pontossag csokkenéséhez vezet.

Szamitasi tartomanyok
+10 ~ 9,9999999999999x10% és 0.

Ha egy bejegyzés abszolut értéke vagy egy szamitas vég- vagy kozbensd eredménye
kisebb, mint 10°°, az értéket a szamitasokban és a kijelz6n 0-nak kell tekinteni.

Faggveny Dinamikai tartomany

sin x, cos x, tan x DEG: Ix|<10"

(tanx:|x |=80(2n-1))*
RAD: x| <5 x10"

(tanx :x |=-3-(2n-1))*
GRAD: x| <2 x10"

(tanx:|x |=100(2n-1))*
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Fuggvény

Dinamikai tartomany

sin'x , cos™ |x | <1
tamx, y¥ x|<10"
Ine, loge 10"<x<10"™
oY >0: -10"< x log ¥ <100
o ¥ =): 0<x <10
y* oy <
o X =n(0<x | <1:3=2n-1,x20)*
-10"<x logly| <100
¥ >0 -10"< & logy <100(x =0)
« ¥ =: 0<x <10"
WY o ¥ <0 X =2n-1
(0<|x|<15i=nx =0)*
-10"<4-log |¥| <100
e* -10"<x<230.2585092
10* ~10"<x <100
sinhx,coshx, Ix [<230.2585092
tanhx
sinh'x |x|<10™
cosh™x 1<x<10”
tanh"X Ix|<1
X? Ix [<10*
e D<x <10™
X % [<10™(x =0)
n! 0<n<69*
0<r<n<9999999999*
nPr nl_ 1
m-m <10

*(n, r: egész szam)
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Akkumulator csere

Megjegyzések az akkumulator cseréjéhez

Az akkumulatorok nem megfelel6 kezelése elektrolitszivargast vagy robbanast okozhat.
Feltétlenul tartsa be az alabbi kezelési szabalyokat:

Toltse vissza mindkét elemet egyszerre.

Ne keverje 6ssze az Uj és a régi elemeket.

Gy6z8djon meg réla, hogy az Uj elemek a megfeleld tipusuak.
Behelyezéskor az egyes elemeket a szamolégépen feltintetett médon kell
elhelyezni.

e Az elemeket a szallitas el6tt gyarilag beszerelik, és el6fordulhat, hogy a
specifikacioban megadott élettartam elérése el6tt lemerulnek.

Mikor kell kicserélni az elemeket

Ha a kijelz6 kontrasztja gyenge, az elemek cseréje sziikséges.

Vigyazat

e Tartsa az elemeket gyermekek eldl elzarva.

e Aszamologépben hagyott lemertlt elemek szivaroghatnak és karosithatjak a
szamoldgépet.

e Ahelytelen kezelés robbanasveszélyt okozhat.

e Az elemeket csak azonos tipusuakra szabad cserélni.

e Ne dobja az elemeket tlizbe, mert felrobbanhatnak.

Cserélési eljaras

1.Kapcsolja ki a készuléket a 2ndF OFF gomb megnyomasaval.
2.Zarja be a védoburkolatot, és tavolitsa el a két csavart.
Ezutan csUsztassa a testet kissé a nyil iranyaba. (1. abra)

3.Csusztassa el kissé az akkumulator fedelét, és emelje fel a levételhez.
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4.Helyezzen be két Uj akkumulatort.
5.Helyezze vissza a hatso fedelet és a csavarokat.
6.Nyomja meg a RESET kapcsol6t (a hatoldalon).

Gy6z8djon meg réla, hogy a kijelz6 az alabbiakban lathaté moédon jelenik meg. Ha a
kijelz8 nem az abran lathaté mddon jelenik meg, vegye ki az elemeket, helyezze vissza
Oket, és ellendrizze a kijelz6t még egyszer.

Automatikus kikapcsolas funkcié

Ez a szamoldgép kikapcsolja magat, hogy energiat takaritson meg az akkumulatornak,
ha korulbelll 10 percig nem nyomja meg a billenty(t.

Jotallasi feltételek

Az Alza.cz értékesitési hal6zataban vasarolt Uj termékre 2 év garancia vonatkozik. Ha a
garancialis id6szak alatt javitasra vagy egyéb szolgaltatasra van szuksége, forduljon
kdzvetlenul a termék eladdjahoz, ahol a vasarlas datumaval ellatott eredeti vasarlasi
bizonylatot kell bemutatnia.

Az aladbbiak a jotallasi feltételekkel valé ellentétnek minésilnek, amelyek miatt az
igényelt kévetelés nem ismerhet6 el:

e Aterméknek a termék rendeltetésétdl eltérd célra torténd hasznalata, vagy a termék
karbantartasara, Uzemeltetésére és szervizelésére vonatkozé utasitasok be nem
tartasa.

e Aterméket természeti katasztrofa, illetéktelen személy beavatkozasa vagy a vevé
hibajabol bekovetkezett mechanikai sérulés (pl. szallitas soran, nem megfeleld
eszkozokkel torténd tisztitas stb.) éri.

o Afogybeszkozok vagy alkatrészek természetes elhasznalédasa és dregedése a
hasznalat soran (pl. akkumulatorok stb.).

e Karos kuls6 hatasoknak valé kitettség, példaul napfény és egyéb sugarzas vagy
elektromagneses mezdk, folyadék behatolasa, targyak behatolasa, haldzati
tulfeszlltség, elektrosztatikus kisulési feszultség (beleértve a villamlast), hibas tap-
vagy bemeneti feszultség és e feszlltség nem megfelel6 polaritasa, kémiai
folyamatok, példaul hasznalt tapegységek stb.

e Ha valaki a termék funkcidinak megvaltoztatasa vagy bévitése érdekében a
megvasarolt konstrukciohoz képest modositasokat, atalakitasokat, valtoztatasokat
végzett a konstrukcion vagy adaptaciot végzett, vagy nem eredeti alkatrészeket
hasznalt.
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EU-megfeleléségi nyilatkozat

Ez a termék megfelel a 2014/30/EU (EMC) és a 2011/65/EU iranyelvek szerinti unios
kovetelményeknek, beleértve a 2015/863/EU (RoHS) modositasokat is.

C¢€

WEEE

Ezt a terméket nem szabad normal haztartasi hulladékként artalmatlanitani az
elektromos és elektronikus berendezések hulladékairdl sz616 uniés iranyelvnek (WEEE -
2012/19 / EU) megfelel&en. Ehelyett vissza kell juttatni a vasarlas helyére, vagy at kell
adni az Ujrahasznosithaté hulladékok nyilvanos gydjtéhelyén. Azzal, hogy gondoskodik a
termék megfelel6 artalmatlanitasarol, segit megel&zni a kdrnyezetre és az emberi
egészségre gyakorolt esetleges negativ kovetkezményeket, amelyeket egyébként a
termék nem megfeleld hulladékkezelése okozhatna. Tovabbi részletekért forduljon a
helyi hatésaghoz vagy a legkozelebbi gyljtdponthoz. Az ilyen tipusu hulladék nem
megfelel§ artalmatlanitasa a nemzeti el6irasoknak megfelel6en pénzbirsagot vonhat
maga utan.
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Sehr geehrter Kunde,

vielen Dank fur den Kauf unseres Produkts. Bitte lesen Sie die folgenden Anweisungen
vor dem ersten Gebrauch sorgfaltig durch und bewahren Sie diese Bedienungsanleitung
zum spateren Nachschlagen auf. Beachten Sie insbesondere die Sicherheitshinweise.
Wenn Sie Fragen oder Kommentare zum Gerat haben, wenden Sie sich bitte an den
Kundenservice.

D=4
©

Lieferant

www.alza.de/kontakt

0800 181 45 44

www.alza.at/kontakt

+43 720 815 999

Alza.cz a.s., Jankovcova 1522/53, HoleSovice, 170 00 Prag 7, www.alza.cz
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EinfiUhrung

Bewahren Sie dieses Handbuch nach der Lektlire zum spateren Nachschlagen an einem
geeigneten Ort" auf.

Hinweis: Einige der in diesem Handbuch beschriebenen Modelle sind maoglicherweise in
einigen Landern nicht erhaltlich.

Operative Hinweise

Um einen stdrungsfreien Betrieb zu gewahrleisten, beachten Sie bitte die folgenden
Punkte:

1. Tragen Sie den Taschenrechner nicht in der Gesal3tasche einer Hose oder eines
Hemdes.

2. Setzen Sie den Rechner keinen extremen Temperaturen aus.
3. Lassen Sie es nicht fallen und wenden Sie keine UbermaRige Kraft an.
4. Nur mit einem weichen, trockenen Tuch reinigen."

5. Verwenden oder lagern Sie den Rechner nicht an Orten, an denen Flussigkeiten auf
ihn spritzen kdnnen.

Drucken Sie den RESET-Schalter nur in den folgenden Fallen:

e Beierstmaliger Verwendung

e Nach dem Auswechseln der Batterien

e Sol6schen Sie den gesamten Speicherinhalt

e Wenn ein abnormaler Zustand auftritt und alle Tasten nicht funktionieren.

Falls dieser Rechner gewartet werden muss, wenden Sie sich nur an einen SHARP-
Handler, eine von SHARP zugelassene Serviceeinrichtung oder einen SHARP-
Reparaturdienst, sofern verfugbar.
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Die Schutzhiille

Im Lieferumfang lhres Rechners ist eine Abdeckung enthalten, die die Tastatur und das
Display schutzt, wenn der Rechner nicht benutzt wird.

Dricken Sie auf das hintere Ende des Rechners und schieben Sie ihn auf die andere
Seite.

Drehen Sie den Taschenrechner so, dass er in die Abdeckung passt.

e SchlieBen Sie die Abdeckung immer, wenn Sie den Rechner nicht benutzen. (Zum
SchlieRen verfahren Sie in umgekehrter Reihenfolge wie beim Offnen).

Falls die Abdeckung vom Hauptgerat abgetrennt wurde, bringen Sie sie wieder an,
indem Sie die nachstehenden Schritte ausfuhren.
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Anzeige

= 20dF  HYPALPHA FIXSCIENG DEGRAD ERFN) M == | 4— SymbO|
Anze|geder R R - EX-E-EE-L-
HEE%E%% o
Mantisa Exponent

(Wenn der Wert der Mantisse nicht in den Bereich + 0,000000001 - £ 9999999999
passt, wechselt die Anzeige zur wissenschaftlichen Notation. Der Anzeigemodus kann je
nach dem Zweck der Berechnung geandert werden.

e Erscheint, wenn die gesamte Gleichung nicht angezeigt werden

kann. Driicken Sie (40 / () , um den verbleibenden
(ausgeblendeten) Abschnitt zu sehen.

2ndF Erscheint, wenn 2ndF gedruckt wird und zeigt an, dass die gelb
markierten Funktionen aktiviert sind.
HYP Zeigt an, dass HYP gedruckt wurde und die hyperbolischen

Funktionen aktiviert sind. Wenn 2ndF hyp gedruckt wird,
erscheinen die Symbole "2ndF HYP" und zeigen an, dass die
inversen hyperbolischen Funktionen aktiviert sind.

Alpha Zeigt an, dass 2ndF APLHA oder STO (RCL) gedruckt wurde und die
Eingabe (Abruf) von Speicherinhalten und der Abruf von Statistiken
moglich ist.

FIX/SCI/ENG Zeigt die Notation an, die fur die Anzeige eines Wertes verwendet

wird und andert sich jedes Mal, wenn 2ndF FSE gedruckt wird.

DEG/RAD/GRAD Zeigt die Winkeleinheiten an und andert sich jedes Mal, wenn DRG

gedruckt wird.
STAT Erscheint, wenn der Statistikmodus ausgewahlt ist.
M Zeigt an, dass ein numerischer Wert im unabhangigen Speicher

gespeichert ist.
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Vor der Benutzung des Rechners

In diesem Handbuch verwendete Bezeichnungen

So geben Sie e*

an.

X Zur Angabevon  (CIn )
In:
Zur Angabe von  (2ndF)(aLPEA)( X )
X:

Bei Funktionen, die Uber der Taste gelb gedruckt sind, muss zuerst 2ndF und dann die
Taste gedruckt werden. Zahlen werden nicht als Tasten, sondern als normale Zahlen
dargestellt.

Ein- und Ausschalten

Drucken Sie on/c, um den Taschenrechner einzuschalten, und 2ndF OFF, um ihn
auszuschalten.

Clearing-Methoden

Es gibt die folgenden drei Clearingmethoden:

Clearingvorgang  Eingabe (Anzeige) M™ A-D, X, Y"2 STAT, ANS
ON/C O X X
2ndF @) X @
Zuruicksetzen O O O
O : Klar
X: Behalten

. Unabhangiger Speicher M.

*2 Zwischenspeicher A-D, X und statistische Daten sowie Speicher fur die letzte Antwort.
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Bearbeiten der Gleichung

« Driicken Sie O oder(®) , um den Cursor zu bewegen. Sie kdnnen auch zur
Gleichung zurtckkehren, nachdem Sie eine Antwort erhalten haben, indem Sie

O ([I:’ ) driicken.

e Wenn Sie eine Nummer [6schen mochten, bewegen Sie den Cursor auf die zu
|6schende Zahl und 16schen. Die Nummer unter dem Cursor wird geldscht.

e Wenn Sie eine Zahl einfigen mussen, bewegen Sie den Cursor an die Stelle
unmittelbar nach der Stelle, an der Sie die Zahl einfUgen mochten, und geben Sie
die Zahl ein.

Mehrzeilen-Wiedergabefunktion

Dieser Rechner ist mit einer Funktion zum Abrufen friherer Gleichungen ausgestattet.
Die Gleichungen enthalten auch Anweisungen zur Beendigung der Berechnung, wie z. B.
"=", und es kdnnen maximal 142 Zeichen im Speicher abgelegt werden. Wenn der
Speicher voll ist, werden die gespeicherten Gleichungen in der Reihenfolge der dltesten
zuerst geléscht. Wenn Sie (A driicken, werden die vorherige Gleichung und die
Antwort angezeigt. Durch weiteres Drucken von CAJ werden die vorhergehenden
Gleichungen angezeigt (wenn Sie zur vorherigen Gleichung zurickgekehrt sind, dricken

sie (W) , um die Gleichungen in der Reihenfolge anzuzeigen). AuRerdem kann mit

C&J zur altesten Gleichung gesprungen werden.

@D 3(5+2) oNg 35 (F)200)(C=) 2
@ 3x5+2 3(x)5(+)2(=) 7.
@ 345 + 3x2 3(xJs5(+)3(xJ2(=) =
> Gleichung @ (a) 21.
> Gleichung @ ) 17.
- Gleichung ® (v) 21.
- Gleichung @ [IJ 17.

Der Mehrzeilenspeicher wird durch die folgenden Vorgange geldscht:
(2naF) (€A ), (2ndF) (OFF) (einschlieRlich der automatischen Abschaltfunktion),

Moduswechsel, RESET, 229F) (axoov) (2ndF) (ANS]  konstantenberechnung,
Winkelumrechnung/-anderung, Koordinatenumrechnung, Speicherung von
Zahlenwerten in den Zwischenspeichern und im unabhangigen Speicher sowie
Eingabe/Loschung von statistischen Daten.
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Prioritatsebenen in der Kalkulation

Dieser Rechner fuhrt Operationen nach der folgenden Prioritat aus:

@ Funktionen, denen ihr Argument vorangestellt ist (x, x* n!, usw.)

@

gefolgt von ihrem Argument (sin, cos, ; usw.)I® implizierte Multiplikation einer
Funktion (2sin30,usw.)

® nCr, nPr, @ x, + +, - @@=, M+, M-, =M, p DEG,
pRAD,p GRAD,DATA,CD,—r6,

Berechnungsendanweisungen

@ YN @ Implizierte Multiplikation eines Speicherwerts (2Y usw.)= Funktionen

— XYy und andere

Wenn Klammern verwendet werden, haben die Berechnungen in Klammern Vorrang vor
allen anderen Berechnungen.

Erstmalige Einrichtung
Auswahl des Modus

Normaler Modus: )

Dient zur DurchfUhrung von arithmetischen Operationen und Funktionsberechnungen.

Modus der Einzelvariablenstatistik: (2n¢F) (Mobg] (1 )

Dient zur DurchfUhrung statistischer Berechnungen mit einer Variablen.

Modus der Zwei-Variablen-Statistik; (2ndF) (MODE) (_ 2 ]

Dient zur DurchfUhrung von statistischen Berechnungen mit 2 Variablen.

Bei der Durchfuhrung der Moduswahl werden die temporaren Speicher, die
statistischen Daten und der Speicher fur die letzte Antwort geldscht, auch wenn
derselbe Modus erneut gewahlt wird.
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Auswahl der Anzeigeschreibweise und der Nachkommastellen

Der Rechner verfugt Uber vier Anzeigeschreibweisen fur die Anzeige von
Berechnungsergebnissen. Wenn das Symbol FIX, SCI oder ENG angezeigt wird, kann die
Anzahl der Dezimalstellen auf einen beliebigen Wert zwischen 0 und 9 eingestellt
werden. Die angezeigten Werte werden auf die entsprechende Anzahl von Ziffern
reduziert.

109000+3= [ON/C) 100000 [+ )3 =) 33333 .33333
Foctos Do o 33333 4333
[TAB auf 2 gesetzt] (TAB) 2 33333.33
2 FSE 3. 39210
[Wissenschaftliche Schreibweise] (@ndF) (FSE) X .
[Technische Notation] (FSE) 33.33x1
(2ndF) (FSE) 33333 33333

[FlieBkommal]

Wenn der Wert fir das FlieBkommasystem nicht in den folgenden Bereich passt, zeigt
der Rechner das Ergebnis in wissenschaftlicher Notation an:
0.000000001 < | x| £9999999999

Bestimmung der Winkeleinheit

In diesem Rechner kdnnen die folgenden drei Winkeleinheiten angegeben werden.

» DEG(")

/ Press(DRG
v

DRAD(g) RAD (Radians)

"
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Wissenschaftliche Berechnungen

Driicken Sie(@28) (M20e) L2 ) 'ym den normalen Modus zu wahlen.
Driicken Sie in jedem Beispiel @< 'um die Anzeige zu l6schen.

Wenn die Anzeige FIX, SCl oder ENG angezeigt wird, |6schen Sie die Anzeige, indem Sie
(208 (£ griscken.

Arithmetische Operationen / Konstante Berechnungen

45+285+3= ON/C) 45 285(=)3(=2 140.

18+6 _ D18 (D 6 (D (2

15-8 o155 =20 8= 3.428571429

42x%(-5)+120= 4203 )+L5(+J)120( =) -90.
G{S ;I [

T 8 ¥ ®

(5X10")+(4X10")=  s5(Exe)3( = J4(Exr)

FR3I= 1250000.
34+57= 34 57 =0° 91.
45+57= 45 =) 102.
68x25= 68 (XJ) 25 =" 1700.
68x40= 40=D 2720.

Die schlieRende Klammer) vor = oder M+ kann weggelassen werden.

Der Summand wird zu einer Konstanten. Subtraktion und Division werden auf die
gleiche Weise durchgefuhrt.

Der Multiplikand wird zu einer Konstanten.

Wenn Sie Berechnungen mit Konstanten durchfuhren, werden diese als K angezeigt.
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Funktionen

Bevor Sie mit den Berechnungen beginnen, geben Sie die Winkeleinheit an.

sin60["]= @NE) Gin) 80 (=) 0.866025403
cgs%[rad]: [(ORG] (cos J L (T Jm J = 14
= 0.707106781
tan"q=[9] (ORE) (ZndF) (fan] 1 =) 50.
DRG

Die Ergebnisse der inversen trigonometrischen Funktionen werden in folgendem
Bereich angezeigt:

B=simX, a=tan'X 8=cos'm
DEG -90=8=<90 O=e= 180
RAD - % =<es% Oses<m

GRAD -100=0=100 O=o0< 200
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cosh 1.5+ (enig) (O (Fve) (eos) 1.5 (=) (e
sinh 1.5)°= Go1s(EDE) 20.08553692
—- (2ndF) (archyp) (tan) (T 5
! (=) 0.895879734
In20 = (In) 20 (=) 2.995732274
log 50 = (Tog) 50 (=) 1.698970004
o'= GndF) (&) 3 (=) 20.08553692
10'= @ndF) (15) 1.7 (=) 50.11872336
S 6 (2ndF) [(x ) [+ )7 (2ndF]
B T "
(x) (=) 0.309523809
g3y 5= By J(=-)2[=Jal¥y")
) s (=) -2024.984375
(12 3= 124
! COE) (=D 6.447419591
JAG = /87 = ()49 (=) 4 @ndd) (57
8= 4,
41 = 4 @ndf) CnD) (=1 24.
wPsi= 10 @af) (P 3 (=) 720.
WCas= E2ndF (aC ) 2( = ) 10.
500x25% = 500 (%) 25 @naf) (%) 125.
120+400=7% 120 (=) 400 EndF) () 30.
500+(500x25%)= 500 (=) 25 Enaf) (%) 625.
400-(400x30%)= 400 (=) 30 @ndF) (%) 280.
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Zufallszahlen

Eine Pseudo-Zufallszahl mit drei signifikanten Ziffern kann durch Drtcken von
(=] erzeugt werden. Um die ndchste Zufallszahl zu erzeugen, driicken Sie = .
Sie kdnnen diese Funktion im normalen und im Statistikmodus ausfthren.

Die Zufallszahlen verwenden den Speicher Y. Jede Zufallszahl wird auf der Grundlage
des im Speicher Y gespeicherten Wertes erzeugt (Pseudo-Zufallszahlenreihe).

Umrechnungen von Winkeleinheiten

90° - [rad] (@NIC) 90 (2ndF) (DEGH) 1.570796327
- [g] 100.
- [°] 90.
sin” 0.8=["] (2ndfF) (8in") 0.8 (=) 53.13010235
- [rad] 0.927295218
- [g] 59.03344706
= [°] DEGK 53.13010235

Speicherberechnungen

Dieser Rechner hat 6 temporare Speicher (A-D, X und Y), einen unabhangigen Speicher
(M) und einen Speicher fur die letzte Antwort. Der unabhangige Speicher und die
temporaren Speicher sind nur im normalen Modus verfugbar.

[Temporare Speicher (A-D, X und Y)]

Ein gespeicherter Wert kann als Wert oder Variable fur die Verwendung in Gleichungen
abgerufen werden. Wenn Sie eine unendliche Dezimalzahl im Speicher speichern, rufen
Sie sie als Variable ab, um genaue Antworten zu erhalten.

Beispiel:

1(=J)3ET®(CY)  (0.3333....istinY
3O RO 0.999999999
3 () @ndB) s (Y J (=) 1.

113



Unabhangiger Speicher (M)]

Zusatzlich zu allen Funktionen der temporaren Speicher kann ein Wert zu einem
vorhandenen Speicherwert addiert oder davon subtrahiert werden.

Speicher der letzten Antwort (ANS)]

Das Rechenergebnis, das durch Drucken von = oder einer anderen
Rechenendanweisung erzielt wird, wird automatisch im Speicher fur die letzte Antwort
gespeichert.

Anmerkung:

Die Berechnungsergebnisse der nachstehenden Funktionen werden automatisch in den
Speichern X oder Y gespeichert. Gehen Sie daher bei der Verwendung dieser Funktionen
vorsichtig mit den Speichern X und Y um.

Zufallszahlen................. Y-Speicher
D 10,2 XY X-Speicher, Y-Speicher

Die Zwischenspeicher und der Speicher fur die letzte Antwort werden geldscht, auch
wenn derselbe Modus erneut gewahlt wird.

[ON/Cl e[ x )2 (STO)( M ) 16.
24 +(Bx2)= 24+ J(ReLJC M I =) 1.5
(Bx2)x5= (REL) [ M I = 185 =] 80.

[ON/C) [BTO] [ M ] 0.
$150x3:M1 150 %) 3 450.
+)$250:M2=M1+250 250 250.
-Mzx5%:Discount  [RCL][ M J [ x J5([2ndF)[_% ) 35,
Total=M (ZndF] [ M- J[RCL][ M ) 665.
$1=%140 140 (8T0) (¥ ) 140.
%33, 775=%7 33775 [+ J(REL) [ ¥ ) =1 241.25
$2,750=%7 2750 = J[(RCL) (¥ ) = 1 385000
r=3em 3 3.
mri=? [ m ] [2ndF) (aALrHaA)”
(r—Y) (¥ J(x*) (=1 28.27433388

IR I
24 _ = 2.4
vg 24 A) 3 (30 @nad) (BRS) () 60 ()
3x(A)+60+(A)= (znaf) (ANS) (=) 32.2

* Die Eingabe des Multiplikationsverfahrens wird zwischen " " und einer Variablen
weggelassen.
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Kette Berechnungen

Mit diesem Rechner kann das Ergebnis der vorherigen Berechnung fur die folgende
Berechnung verwendet werden.

B+4=ANS [ONE)e (+ J4( = ] 10.
ANS+5 s C=0) 15.
44+3T=ANS 44 ar(C=) 81.
JANS =) 9.

Das vorherige Berechnungsergebnis wird nach der Eingabe mehrerer Anweisungen
nicht wieder aufgerufen.

Berechnungen von Fraktionen

e Eine Dezimalzahl, eine Variable oder ein Exponent kann nicht als Bruch
eingegeben werden.

¢ Inallen Fallen kdnnen insgesamt bis zu 10 Ziffern eingegeben werden,
einschlielich Ganzzahl, Zahler, Nenner und dem Symbol (7).

¢ Wenn die Anzahl der anzuzeigenden Stellen grof3er als 10 ist, wird die Zahl in eine
Dezimalzahl umgewandelt und angezeigt.

314-&—[32] (ONIC) 3 (ablc )1 (abic) 2 + )

2 3 "¢ 4(abic)3(=) 456"
—[a.xxx] 4.833333333
—+[d/c] 296
m—i_ (2ndF) (10° ) 2 (abic]) 3

=) 4.641588834
1.25+%=[a.xxx] 1.25 (+ )z (@bie)s (=) 1.65
~lag] 11320

4564
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Zeit, Dezimal- und Sexagesimalberechnungen

Es kann eine Umrechnung zwischen Dezimal- und Sexagesimalzahlen vorgenommen
werden. Daruber hinaus kdnnen die vier Grundrechenarten und Speicherberechnungen
im Sexagesimalsystem durchgefuhrt werden.

12°39'18"05 (ON/C) 12 [D'M'S) 38 ['MS) 18 [D'M'S) 5
—-[10] 12.65501389
123.678 123 678 123°40'40.80
—[60]
3h30m45s+ 3 [O°'MS)30 OMS) 45 ( + )6 ([OMS)
6h45m36s=[60] 4sO°'mg36 [ = ) 10°16°21.00
3h45m - 3pMs) 45 = ) 169 (= )
1.69h=[60] 203'36.00
sin62°12'24"=[10] (sin )62 'MS) 12 [Dm's) 24

= 0.884635235

Koordinatenumrechnungen

Bevor Sie eine Berechnung durchfuhren, wahlen Sie die Winkeleinheit aus.

b Y
P (xy) P(r,)®
- ;
. >
'D"-\_.___x __,_,.-'-I ;_:l: .D _:{
Rechteckige Koordinate Polarkoordinate

Das Rechenergebnis wird automatisch in den Speichern X und Y abgelegt.
Wert von r oder x: X Speicher

Wert von 8 oder y: Y-Speicher
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[©NIC) 6 (2ndF) (2 4

[x =6 {r = =Dld 7.211102551

Y =4 #=["] [e] 33.69006753
[r] 7.211102551
14 (~ Jas

[r =14 _}[x = [x] 11.32623792

e=36["] \¥ = (== [v] 8.228993532
[x] 11.32623792

Funktion modifizieren

In diesem Rechner werden alle Berechnungsergebnisse intern in wissenschaftlicher
Notation mit bis zu 12 Stellen fur die Mantisse ermittelt. Da die Berechnungsergebnisse
jedoch in der Form angezeigt werden, die durch die Display-Notation und die Anzahl der
angegebenen Dezimalstellen bestimmt ist, kann das interne Berechnungsergebnis von
dem auf dem Display angezeigten abweichen. Mit der Modifizierungsfunktion wird der
interne Wert so umgewandelt, dass er mit dem auf dem Display angezeigten Wert

Ubereinstimmt, so dass der angezeigte Wert ohne Anderung fur nachfolgende

Operationen verwendet werden kann.

5+9=ANS [GNIC) (2ndF) (FSE) (2ndF) (TAB) 1

ANSx9= 5(=J9( =) 0.6

[FIX,TAB=1] (X9 (=" 5.0
5( =) 9 (=) (2nar) (MDF) 0.6
XD9(=)7 5.4

(2ndF) (FSE ) (2ndF) (FSE) (2ndF) (FSE)

*1 5.55555555555x10 'x9
*2 0.6x9
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Statistische Berechnungen

Driicken Sie die Taste(@n¢F) M208) (L1 ) ;m den Statistikmodus mit einer Variablen

(2ndF) (o0g] (L2 ) ynd den Modus mit zwei Variablen auszuwahlen. Die folgenden
Statistiken kénnen fur jede statistische Berechnung erhalten werden (siehe Tabelle
unten):

Statistische Berechnung mit einer Variablen: Statistik von 1: Lineare
Regressionsberechnung: Statistiken von 1 und 2 und zusatzlich Schatzung von y fur ein
gegebenes x (Schatzung y') und Schatzung von x fur ein gegebenes y (Schatzung x')

Mittelwert der Proben (x Daten)

|

SX Standardabweichung der Stichprobe (x-
1 Daten)
oX Standardabweichung der Population (x-
Daten)
n Anzahl der Proben
XX Summe der Stichproben (x Daten)
Tx? Summe der Quadrate der Stichproben (x-
Daten)
y Mittelwerte der Stichproben (y-Daten)
sy Standardabweichung der Stichprobe (y-
Daten)
oy Standardabweichung der Population (y-
2 Daten)
zy Summe der Stichproben (y-Daten)
Ty? Summe der Quadrate der Stichproben (y-
Daten)
Xy Summe der Produkte der Stichproben (x, y)

Korrelationskoeffizient

Koeffizient der Regressionsgleichung

Ol T

Koeffizient der Regressionsgleichung

Die eingegebenen Daten bleiben im Speicher erhalten, bis 2ndF CA oder 2ndF MODE 1
(2) gedruckt wird. Bevor Sie neue Daten eingeben, 16schen Sie den Speicherinhalt.

[Dateneingabe]
Einzelvariable Daten

Daten

Daten—— Héufigkeit (Zur Eingabe von Vielfachen der gleichen Daten)
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Zwei-Variablen-Daten

Daten x &x1 Daten y

Daten x &x1 Daten y[:] Frequenz (Zur Eingabe von Vielfachen der
gleichen Daten x und y.)

[Datenkorrektur]

Korrektur vor dem Driucken von :

Loschen Sie falsche Daten mit ON/C:
Korrektur nach Dricken von :

Driicken Sie (2 , um den letzten Eintrag zu bestatigen, und dricken Sie 2ndF
CD, um ihn zu I8schen.

Statistische Berechnungen mit einer Variablen

— Score

g5 (2ndF) (mooE) [ 1 ) 0.
80 95 1.
80 80 2.
75 3.
75 753 6.
75 50 7.

50
= 75.71428571
= (oX7) 12.37179148
Ix= 530.
Ixi= 3% 41200.
sX = 13.3630621
8% = (x0) (=) 178.5714286
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Regressionsberechnungen

Bestimmen Sie angesichts der Stichprobendaten mit zwei Variablen (x, y) die
Standardabweichung der Datensatze x und y, die Koeffizienten der linearen
Regressionsgleichung und den Korrelationskoeffizienten zwischen x und y.

% _}" (2ndF) [mooe) [ 2 ) 0.

2 5 2([&")5 1.

2 5 2.

12 | 24 12 24 3.
21 | 40 21 @) 40 () 3 o) 6.
21 | 40 15 25 7.
21 | 40 1.050261097
15 | 25 (b 1.826044386
) 0.995176343

8.541216597

&Y 15.67223812

Die folgenden Werte werden geschatzt:

Xx=3—y's7 3 ¥y 6.528394256
Yy =46 — x'=? 48 (x) 24.61590706

Statistische Berechnungsformeln

x =2 ox = [X=nX*
n

—
8x = IXing I=x1+x2+---+xn
Ix=xf+x2*+..-+xn?

_ ¥
¥="n oy fEr*-T"F

g,3,|-=||'21l"z‘"5"'2 Ixy=xiyi+x2y2+...+xnyn
n-1
Iy=yi1+y2+...¥yn
Zyizy f4y2i+---+yn?
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(n: Anzahl der Proben)
In den Formeln fur die statistische Berechnung tritt ein Fehler auf, wenn:

e der absolute Wert des Zwischenergebnisses oder des Berechnungsergebnisses
gleich oder groRer als 1x10' ist.

e der Nenner ist Null.

e eswird versucht, die Quadratwurzel oder eine negative Zahl zu ziehen.

Fehler- und Berechnungsspannen
1. Fehler

Ein Fehler tritt auf, wenn eine Operation die Berechnungsbereiche Gberschreitet oder
wenn eine mathematisch unzulassige Operation versucht wird. Wenn ein Fehler auftritt,

wird der Cursor durch Driucken von (O (oder (») ) automatisch an die Stelle in der
Gleichung zurlckgesetzt, an der der Fehler aufgetreten ist. Bearbeiten Sie die Gleichung
(siehe Seite 5) oder drticken Sie ON/C, um die Gleichung zu l6schen.

2. Fehlercodes und Fehlertypen

Syntaxfehler (Fehler 1):

e Eswurde versucht, eine ungultige Operation durchzufihrenEx

, @) GrY)

Berechnungsfehler (Fehler 2):

e Der absolute Wert eines Zwischen- oder Endergebnisses der Berechnung ist
gleich oder groRer als 10" .

e Eswurde der Versuch unternommen, durch 0 zu teilen.

e Die Berechnungsbereiche wurden bei der Durchfuhrung von Berechnungen
Uberschritten.

Fehler in der Tiefe (Fehler 3)

o Die verfugbare Anzahl von Puffern wurde Uberschritten. (Es gibt 8 Puffer* fur
numerische Werte und 16 Puffer fur Rechenanweisungen). *4 Puffer im STAT-
Modus.

Gleichung zu lang (Fehler 4):

e Die Gleichung hat ihren maximalen Eingabepuffer (142 Zeichen) Uberschritten.
Eine Gleichung muss klrzer als 142 Zeichen sein.
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3. Berechnungsspannen

Innerhalb der unten angegebenen Bereiche ist dieser Rechner auf +1 in der
niederwertigsten Stelle der Mantisse genau. Bei kontinuierlichen Berechnungen
(einschlieBlich Kettenberechnungen) akkumulieren sich die Fehler, was zu einer
geringeren Genauigkeit fuhrt.

Berechnungsbereiche
+10 ~ 9,999999999x10% und 0.

Ist der absolute Wert einer Eingabe oder eines End- oder Zwischenergebnisses einer
Berechnung kleiner als 10°°, wird der Wert bei Berechnungen und in der Anzeige als 0
betrachtet.

Funktion Dynamischer Bereich
sin X, cos x, tan x DEG: Ix|<10"
(tanx:|x |=90(2n-1))*
RAD: x| <55 x10™
(tanx :|x =5 (2n-1))"
GRAD: x| <2 x10™

(tanx :|x |=100(2n-1))*
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Funktion Dynamischer Bereich
sin'x , cos™ x| <1
tank, yx Ix|<10™
Ine, loge 10"<x <10
o ¥ >0: -10™< x log ¥ <100
« ¥ =0 O<x <10™
y* o ¥ <0:
o X =n(0<|x | <1:5-=2n-1,x =0)*
-10%x log|y| <100
.Y >0: -10"< £ logy <100(x =0)
« ¥ =0: 0<x <10”
fy” o ¥ <) x =2n-1
(0<|x|<15=n:x 20)*
-10"<¢ log ¥ <100
e* -10™<x<230.2585092
10* ~10™<x <100
sinhx,coshx, Ix |<230.2585092
tanhx
sinh'x x |<10™
cosh”x 1<x<10”
tanh”X % |<1
x? |x |<10*
% 0<x <10™
X X |<10™(x =0)
n! 0<n<69*
0<r<n<9999999999*
nPr n! "
[I'ITF:I!{'ID

*(n, r: ganze Zahl)
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Austausch der Batterie

Hinweise zum Austausch der Batterie
Unsachgemaller Umgang mit Batterien kann zum Auslaufen des Elektrolyts oder zur
Explosion fuhren. Beachten Sie unbedingt die folgenden Handhabungsregeln:

e Legen Sie beide Batterien gleichzeitig neu ein.

¢ Mischen Sie nicht neue und alte Batterien.

e Vergewissern Sie sich, dass es sich bei den neuen Batterien um den richtigen Typ
handelt.

¢ Richten Sie die Batterien beim Einsetzen richtig aus, wie im Rechner angegeben.

¢ Die Batterien werden vor dem Versand werkseitig eingebaut und kénnen vor
Erreichen der in den Spezifikationen angegebenen Lebensdauer erschopft sein.

Wann sind die Batterien zu ersetzen?

Wenn das Display einen schlechten Kontrast aufweist, missen die Batterien
ausgetauscht werden.

Vorsicht

e Bewahren Sie die Batterien aulierhalb der Reichweite von Kindern auf.

e Leere Batterien, die im Taschenrechner verbleiben, kdnnen auslaufen und den
Taschenrechner beschadigen.

e Beiunsachgemaller Handhabung besteht Explosionsgefahr.

e Die Batterien durfen nur durch Batterien desselben Typs ersetzt werden.

e Werfen Sie Batterien nicht ins Feuer, da sie explodieren kénnen.

Ersetzungsverfahren

Schalten Sie das Geréat aus, indem Sie 2ndF OFF drucken.
Schlie3en Sie die Schutzabdeckung und entfernen Sie zwei Schrauben.
Schieben Sie dann das Gehduse leicht in Pfeilrichtung. (Abb. 1)
Schieben Sie die Batterieabdeckung leicht an und heben Sie sie an, um sie zu entfernen.
4. zwei neue Batterien einlegen.
Bringen Sie die hintere Abdeckung und die Schrauben wieder an.
6. dricken Sie den RESET-Schalter (auf der Ruickseite).

Vergewissern Sie sich, dass die Anzeige wie unten dargestellt erscheint. Wenn die
Anzeige nicht wie abgebildet erscheint, nehmen Sie die Batterien heraus, setzen Sie sie
wieder ein und Uberprufen Sie die Anzeige erneut.

—_—

oeg

124



Automatische Ausschaltfunktion

Der Rechner schaltet sich selbst aus, um Batteriestrom zu sparen, wenn etwa 10
Minuten lang keine Taste gedruckt wird.

Garantiebedingungen

Auf ein neues Produkt, das im Vertriebsnetz von Alza gekauft wurde, wird eine Garantie
von 2 Jahren gewahrt. Wenn Sie wahrend der Garantiezeit eine Reparatur oder andere
Dienstleistungen bendtigen, wenden Sie sich direkt an den Produktverkaufer. Sie
mussen den Originalkaufbeleg mit dem Kaufdatum vorlegen.

Als Widerspruch zu den Garantiebedingungen, fur die der geltend gemachte
Anspruch nicht anerkannt werden kann, gelten:

Verwendung des Produkts fur einen anderen Zweck als den, fur den das Produkt
bestimmt ist, oder Nichtbeachtung der Anweisungen fir Wartung, Betrieb und
Service des Produkts.

Beschadigung des Produkts durch Naturkatastrophe, Eingriff einer unbefugten
Person oder mechanisch durch Verschulden des Kaufers (z.B. beim Transport,
Reinigung mit unsachgemaflen Mitteln usw.).

Naturlicher Verschlei und Alterung von Verbrauchsmaterialien oder Komponenten
wahrend des Gebrauchs (wie Batterien usw.).

Exposition gegenuber nachteiligen dul3eren Einfllissen wie Sonnenlicht und anderen
Strahlungen oder elektromagnetischen Feldern, Eindringen von FlUssigkeiten,
Eindringen von Gegenstanden, Netzuberspannung, elektrostatische
Entladungsspannung (einschliel3lich Blitzschlag), fehlerhafte Versorgungs- oder
Eingangsspannung und falsche Polaritat dieser Spannung, chemische Prozesse wie
verwendet Netzteile usw.

Wenn jemand Anderungen, Modifikationen, Konstruktionsanderungen oder
Anpassungen vorgenommen hat, um die Funktionen des Produkts gegenuber der
gekauften Konstruktion zu andern oder zu erweitern oder nicht originale
Komponenten zu verwenden.
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EU-Konformitatserklarung

Dieses Produkt entspricht den EU-Anforderungen gemald den Richtlinien 2014/30/EU
(EMV) und 2011/65/EU einschlieBlich der Anderungen 2015/863/EU (RoHS).

C¢€

WEEE

Dieses Produkt darf gemal3 der EU-Richtlinie Uber Elektro- und Elektronik-Altgerate
(WEEE - 2012/19 / EU) nicht Uber den normalen Hausmull entsorgt werden. Stattdessen
muss es an den Ort des Kaufs zurtickgebracht oder bei einer 6ffentlichen Sammelstelle
far wiederverwertbare Abfalle abgegeben werden. Indem Sie sicherstellen, dass dieses
Produkt ordnungsgemald entsorgt wird, tragen Sie dazu bei, mogliche negative Folgen
fur die Umwelt und die menschliche Gesundheit zu vermeiden, die andernfalls durch
eine unsachgemalle Abfallbehandlung dieses Produkts verursacht werden kénnten.
Wenden Sie sich an Ihre ortliche Behdrde oder an die nachstgelegene Sammelstelle, um
weitere Informationen zu erhalten. Eine unsachgemal3e Entsorgung dieser Art von Abfall
kann gemal’ den nationalen Vorschriften zu Geldstrafen fuhren.
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